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PROFESSIONAL EXAMINATION BOARD
Group­1 Post Graduate Selection Test 2016

20th March 2016, 09:00 AM
Topic:­ General Knowledge 
1)

Question Stimulus :­

General Knowledge

Who was the first women chief minister of Madhya Pradesh?/मȯঋदॕष कॎ ঋथम मोऻलॊ
मॏূ मॠআॎ कग़न थॎ ॠ?

Meera Kumar/ मॎरॊ कॏ मॊर

Sushma Swaraj/  ॏऺहमॊ ˢरॊज

Uma Bharti/ उमॊ भॊरतॎ

Sarla Grewal / ऺरलॊ ঁॕशॊल

Correct Answer :­Uma Bharti/ उमॊ भॊरतॎ 

2)

Question Stimulus :­

General Knowledge

Which state is to the west of M.P.?/म. ঋ. कॕ पोʮम म७ कग़न­ऺॊ रॊ৸ ऻॖ?

Goa/ गख़शॊ

Gujrat/ गॏजरॊत

Uttar Pradesh/ उȅर ঋदॕष

Maharashtra/ मऻॊरॊ ३̓

Correct Answer :­Gujrat/ गॏजरॊत 

3)

Question Stimulus :­

General Knowledge
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General Knowledge

Which of the following district was not added to Madhya Pradesh in
1956?/ोनɻ म७ ऺॕ कग़न­ऺॊ ोजलॊ 1956 म७ मȯঋदॕष म७ ऺ्ʃोलत नऻॎ ॠ थॊ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ ৖ॊोलयर

Nagpur/ नॊगपॏर

Correct Answer :­Nagpur/ नॊगपॏर 

4)

Question Stimulus :­

General Knowledge

Who was the first Vidhan Sabha speaker of M.P.?/म. ঋ. कॎ ोशधॊन ऺभॊ कॕ ঋथम
ऺभॊपोत कग़न थॕ?

P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ

Tejlal Tembhare/तॕजलॊल टॕम् भरॕ

Gulsher Ahmad/ गॏलषॕर अऻमद

Srinivas Tiwari/ ঒ॎोनशॊऺ ोतशॊरॎ

Correct Answer :­P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ 

5)

Question Stimulus :­

General Knowledge

Which among the following is The Business capital of Madhya Pradesh?/
ोनɻ ोल्खत म७ ऺॕ मȯঋदॕष कॎ ʩशऺॊोयक रॊजधॊनॎ कग़न­ऺॎ ऻॖ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ ৖ॊोलयर
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Jabalpur/ जबलपॏर

Correct Answer :­Indore/ इॠदग़र 

6)

Question Stimulus :­

General Knowledge

Which of the following is a District of Madhya Pradesh?/ ोनɻ म७ ऺॕ कग़न­ऺॊ
मȯঋदॕष कॊ एक ोजलॊ ऻॖ?

Agar Malwa/ आगर मॊलशॊ

Mhow/ मॽ

Pipariya/ ोपपौरयॊ

Budhni/ बॏधनॎ

Correct Answer :­Agar Malwa/ आगर मॊलशॊ 

7)

Question Stimulus :­

General Knowledge

State Tribal museum is situated in: /रॊ৸ जनजॊतॎय  ॠऺঁऻॊलय ्̾थत ऻॖ­

Bhopal/ भख़पॊल म७

Indore/ इॠदग़र म७

Jabalpur/ जबलपॏर म७

Guna/ गॏनॊ म७

Correct Answer :­Bhopal/ भख़पॊल म७ 

8)

Question Stimulus :­

General Knowledge 
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Old Vidhan sabha in Bhopal is also famous as which of the following name?/ भख़पॊल
म७ ्̾थत पॏरॊनॎ ोशधॊनऺभॊ और ोकऺ नॊम ऺॕ ोशূॊत ऻॖ?

Edward Hall/ एडशड१ ऻॗल

Minto Hall/ ोमॠटख़ ऻॗल

Indira Hall/ इॠोदरॊ ऻॗल

Gandhi Hall/ गॊॠधॎ ऻॗल

Correct Answer :­Minto Hall/ ोमॠटख़ ऻॗल 

9)

Question Stimulus :­

General Knowledge

Which of the following is present in Mandu?/ ोनɻ म७ ऺॕ मॊॠडॐ  म७ ভॊ ्̾थत ऻॖ?

Asharfi Palace/ अषरफॎ मऻल

Roopmati Palace/ ॺपमतॎ मऻल

Jahaz Palace/ जऻॊि मऻल

All of the above/ ऊपरख़ঢ ऺभॎ

Correct Answer :­All of the above/ ऊपरख़ঢ ऺभॎ 

10)

Question Stimulus :­

General Knowledge

Ahilya Bai belongs to which of the following dynasty?/ अोऻʞॊ बॊई ोनɻ म७ ऺॕ
ोकऺ रॊजशॠष ऺॕ  ॠऺबȠ ऻ॰?

Holkar/ ऻख़ʋर

Bhopal/ भख़पॊल

Scindia/ ो ॠऺोधयॊ

Tripuri/ ोআपॏरॎ
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Correct Answer :­Holkar/ ऻख़ʋर 

11)

Question Stimulus :­

General Knowledge

State planning Commission office of M.P. is situated in which building?/
म.ঋ. म७ रॊ৸ यख़जनॊ आयख़ग कॊ कॊयॊ१लय ोकऺ भशन म७ ्̾थत ऻॖ?

Rajbhawan/ रॊजभशन

Pustak Building/ पॏˑक भशन

Vallabh Bhawan/ शʟभ भशन

Vindhyachal Bhawan/ ोशॠȯॊचल भशन

Correct Answer :­Vindhyachal Bhawan/ ोशॠȯॊचल भशन 

12)

Question Stimulus :­

General Knowledge

Jabalpur is famous as the _________capital of Madhya Pradesh?/ जबलपॏर
मȯঋदॕष कॎ_______  रॊजधॊनॎ कॕ ॺप म७ ঋोऺȠ ऻॖ।

Business/ ʩॊपॊर

Music/  ॠऺगॎत

Tourism/ पय१टन

None/ कख़ई नऻॎ ॠ

Correct Answer :­None/ कख़ई नऻॎ ॠ 

13)

Question Stimulus :­

General Knowledge 

Which of the following city is famous as Holy city of Buddhist?/ोनɻ म७ ऺॕ कग़न­ऺॊ षऻर
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बग़Ƞ धम१ कॕ एक पोशআ षऻर कॕ ॺप म७ ोशূॊत ऻॖ?

Sanchi/ ऺॊँचॎ

Khajuraho/ खजॏरॊऻख़

Vidisha/ ोशोदषॊ

Sagar/ ऺॊगर

Correct Answer :­Sanchi/ ऺॊँचॎ 

14)

Question Stimulus :­

General Knowledge 

Ami Kamni is associated with which sports?/ अमॎ कॊमनॎ ोकऺ खॕल ऺॕ  ॠऺबȠ ऻॖ?

Softball/ ऺॗɝबॗल

Snooker/  ॐ̆कर

Wushu/शॐषॐ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Snooker/  ॐ̆कर 

15)

Question Stimulus :­

General Knowledge

Tawa Canal is present in which of following district?/ तशॊ नऻर ोनɻ म७ ऺॕ ोकऺ
ोजलॕ म७ ्̾थत ऻॖ?

Hoshangabad/ ऻख़षॠगॊबॊद

Bhopal/ भख़पॊल

Guna/ गॏनॊ

Datia/ दोतयॊ
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Correct Answer :­Hoshangabad/ ऻख़षॠगॊबॊद 

Topic:­ General Hindi
1)

Question Stimulus :­

‘अद्भॏ त’ रऺ कॕ ऺ् थॊयॎ भॊश कॊ नॊम क् यॊ ऻॖ?

ोशऺ् मय

रोत

उत् ऺ ॊऻ

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ोशऺ् मय 

2)

Question Stimulus :­

Hindi

एक ऺॕ अोधक उपऺगॳ ऺॕ बनॊ षब् द ऻॖ­

अनॊऻॊर

आऻॊर

ঋॊचॊय१

ঋऻॊर

Correct Answer :­अनॊऻॊर 

3)

Question Stimulus :­

Hindi

तȥश षɨ कॊ चयन कॎोजए।

षकॏ न

शॊ˃

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


ʩथॊ

बॖल

Correct Answer :­बॖल 

4)

Question Stimulus :­

Hindi

ोनɻ म७ ऺॕ ोकऺ षɨ कॎ रचनॊ ঋȑय ऺॕ ॽई ऻॖ?

ঋोतकॐ ल

ঋॊचॊय१

क॑पॊलॐ

उȜम

Correct Answer :­क॑पॊलॐ 

5)

Question Stimulus :­

Hindi

ोऻȽॎ शण१मॊलॊ म७ ʩॠजनख़ ॠ कॎ  ॠऺূॊ ोकतनॎ ऻॖ?

32

34

33

36

Correct Answer :­33 

6)

Question Stimulus :­

Hindi
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ोनɻ ोशकʙख़ॠ म७ ोकऺॎ एक कॎ शत१नॎ षॏȠ ऻॖ, चयन कॎोजए।

मॏॽ१त

मॏॾत१

मॾत१

मॏॽत१

Correct Answer :­मॏॾत१ 

7)

Question Stimulus :­

Hindi

ोनɻ ोशकʙख़ॠ म७ ऺॕ षॏȠ शॊভ कॊ चयन कॎोजए?

एक फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ।

फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ एक।

फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए।

फॐ लख़ ॠ कॎ मॊलॊ एक लॕ आईऐ।

Correct Answer :­फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए। 

8)

Question Stimulus :­

Hindi

ोनम् नोल्खत शॊভख़ॠ म७ ऺॕ  ॠऺदॕऻ शॊचक शॊक् य कॊ चयन कॎोजए।

परख़पकॊर ऻॎ मॊनशतॊ ऻॖ।

अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ।

मॕरॎ बॊत मॊनख़ और ोदल लगॊ कर पुख़।

ऺ् शॊथ५ श् य्ঢ कख़ ोमञ नऻॎ बनॊनॊ चॊोऻए।

Correct Answer :­अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ। 
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9)

Question Stimulus :­

Hindi

ोनɻोल्खत शॊভ म७ रॕखॊॠोकत षɨ कॕ ोशलख़म षɨ कॊ चयन कर ौरঢ ̾थॊन भौरए।

ऻम७ ऺॊ्ȕक भख़जन करनॊ चॊोऻए, ______ भख़जन षरॎर कॕ ोलए ऻॊोनकॊरक ऻॖ।

ॠऺतॏोलत

तॊमोऺक

अ ॠऺतॏोलत

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­तॊमोऺक 

10)

Question Stimulus :­

Hindi

ोनɻ ঋʲ कॕ षɨ­ यॏ৒ कॕ ोशकʙख़ॠ म७ ऺॕ ऺऻॎ अथ१­भॕद कॊ चयन कॎोजए।

तरणॎ­तरोण

तरणॎ­मग़कॊ

मग़कॊ­नग़कॊ

ॐऺय१­नग़कॊ

नग़कॊ­ ॐऺय१

Correct Answer :­नग़कॊ­ ॐऺय१ 

11)

Question Stimulus :­

Hindi

“ोजऺकॎ लॊठॎ उऺकॎ भ॰ऺ” म७ ________ऺश१नॊम ऻॖ।
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पॏॺह शॊचक

ोनज शॊचक

ऺɾॠध शॊचक

ोनʮय शॊचक

Correct Answer :­ऺɾॠध शॊचक 

12)

Question Stimulus :­

Hindi

‘अथॳपॊज१न’ ोकऺ  ॠऺोध कॊ उदॊऻरण ऻॖ?

दॎघ१ ˢर

गॏण ˢर

यण ˢर

अयॊोद ˢर

Correct Answer :­गॏण ˢर 

13)

Question Stimulus :­

Hindi

‘ोनम् नोल्खत षब् दख़ ॠ म७ कग़न­ऺॊ बॽ঍ॎोऻ’ ऺमॊऺ कॊ उदॊऻरण नऻॎ ॠ ऻॖ?

ोআलख़चन

ोशहधर

गजॊनन

ोআभॏशन

Correct Answer :­ोআभॏशन 

14)
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Question Stimulus :­

Hindi

“चरण कमल ऺम कख़मल” म७ चरण षब् द ऻॖ­

उपमॊन

उपमॕय

ऺॊधॊरण षब् द

शॊचक षब् द

Correct Answer :­उपमॕय 

15)

Question Stimulus :­

Hindi

ोनɻ म७ ऺॕ ोकऺ ऺमॐऻ म७ ऺभॎ षɨ ‘ऺमॏঈ’ कॕ पयॊ१यशॊचॎ ऻ॰?

जलोध, ऺॊगर, ऺर, तरॠगॊ

अॠबॏोध, ोऺɀॏ, उदोध, मऻॊण१श

उदोध, तीॊग, तरॠग, ऺर

ऺॊगर, ोऺɀॏ, ऺॕतॏ, तरोन

Correct Answer :­अॠबॏोध, ोऺɀॏ, उदोध, मऻॊण१श 

Topic:­ General English
1)

Question Stimulus :­

English

Choose the option which can be substituted for the given sentence.

One who is unable to pay his debts.

Wealthy.

Successful.
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Bankrupt.

Solvent.

Correct Answer :­Bankrupt. 

2)

Question Stimulus :­

English

Out of the given options choose the one with the correct spelling.

Judgement.

Judgment.

Judgemant.

Judgament.

Correct Answer :­Judgement. 

3)

Question Stimulus :­

English

Find out which part of the sentence has an error. If there is no error, mark
your answer as ‘No error’.

The enemy has received (a)/ many information’s regarding (b)/the
activities of the army (c)/of our neighboring countries. No error (d).

(a)

(b)

(c)

(d)

Correct Answer :­(b) 

4)
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Question Stimulus :­

English

Arrange the following sentences to form a logically coherent paragraph.

A. linked with lack of self­confidence.

B. Basically, for a child to understand a language,

C. Stammering is a habit disorder

D. there are four stages.

CBAD.

CABD.

BCDA.

DACB.

Correct Answer :­CABD. 

5)

Question Stimulus :­

English

Complete the following sentence by choosing the correct form of verb.

He has _____ a lot of courage during his times of adversity.

show

shows

showing

shown

Correct Answer :­shown 

6)

Question Stimulus :­

English
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Complete the following sentence by choosing the correct conjunction.

Tina was unwell, _____ she went shopping with her friends.

and

so

yet

therefore

Correct Answer :­yet 

7)

Question Stimulus :­

English

Complete the following sentence by choosing the most appropriate word
given below:

Would all those in favour please _______ their hands?

rays

raise

raze

race

Correct Answer :­raise 

8)

Question Stimulus :­

English

Complete the following sentence by choosing the correct preposition.

All the boys quarreled _________themselves.

among

between
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across

besides

Correct Answer :­among 

9)

Question Stimulus :­

English

Complete the following sentence by choosing the correct article.

I saw _______ one­eyed man yesterday.

the

an

a

No article required

Correct Answer :­a 

10)

Question Stimulus :­

English

Complete the following sentence by choosing the correct determiner.

I requested him to bring me________ books.

less

little

few

a few

Correct Answer :­a few 

11)
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Question Stimulus :­

English

Complete the following sentence by choosing the correct Phrasal Verb.

While giving evidence in the court, she ______.

broke up

broke into

broke down

broke off

Correct Answer :­broke down 

12)

Question Stimulus :­

English

Tick the option that has the same meaning as the word underlined in the sentence.

One must try to overcome adverse circumstances.

favorable

unfavorable

climatic

pleasant

Correct Answer :­unfavorable 

13)

Question Stimulus :­

English

Tick the word that is opposite in meaning to the word that is underlined.

Shakespeare was a prolific writer.

productive
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unproductive

popular

famous

Correct Answer :­unproductive 

14)

Question Stimulus :­

English

Complete the following sentence by choosing the correct modal.

She works hard so that she _____ pass.

might

may

should

shall

Correct Answer :­may 

15)

Question Stimulus :­

English

Complete the following sentence by choosing the correct order of
pronouns.

________ will watch movie tonight.

You, Sonal and I

Sonal, You and I

I , You and Sonal

I , sonal and you

Correct Answer :­You, Sonal and I 
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Topic:­ General Computer Knowledge
1)

Question Stimulus :­

Computer

Drum Pen is a type of­/ड३ म पॕन एक ঋकॊर कॊ ______ ऻॖ।

Printer/ ोঋॠटर

Plotter/ ɘॗटर

Scanner/ ˋॖनर

Keyboard/ कॎ­बख़ड१

Correct Answer :­Plotter/ ɘॗटर 

2)

Question Stimulus :­

Computer

The process of verification for ‘Log­in­name’ and ‘Password’ is­/ लॗग­इन­नॕम तथॊ ‘पॊऺशड१’ कॕ
ऺȑॊपन कॎ ঋोॿयॊ ऻॖ­

Logging in/ लॗोगॠग इन

Certification/ ऺोट१ोफकॕषन

Authentication/ ऑथ७ोटकॕषन

Configuration/ कॗ्̢ूगरॕषन

Correct Answer :­Authentication/ ऑथ७ोटकॕषन 

3)

Question Stimulus :­

Computer

Powerpoint is a­/पॊशरपॗइॠट ऻॖ एक­

Word Processor/ शड१ ঋख़ऺॕऺर
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Spreadsheet Program/ ˚ॖडषॎट ঋख़ঁॊम

Presentation Package/ ঋॕज७टॕषन पॖकॕज

Database Management Package/ डॕटॊबॕऺ मॖनॕजम७ट पॖकॕज

Correct Answer :­Presentation Package/ ঋॕज७टॕषन पॖकॕज 

4)

Question Stimulus :­

Computer

Which of the following is the physical path over which a message travels?/
ोनɻ म७ ऺॕ कग़न ऺॊ भग़ोतक पथ ऻॖ, ोजऺऺॕ  ॠऺदॕष  ॠऺचॊौरत (गोत) ऻख़तॊ ऻॖ?

Protocol/ ঋख़टख़कॗल

Signal/ ोऺ্ल

Medium/ मॎोडयम

Pathway/ पॊथ­शॕ

Correct Answer :­Medium/ मॎोडयम 

5)

Question Stimulus :­

Computer

Which of the following refers to the physical arrangement of a network?/ ोनɻ म७ ऺॕ कग़न­ऺॊ
नॕटशक१  कॎ भग़ोतक ʩश̾थॊ कख़ दषॊ१तॊ ऻॖ?

Data flow/ डॕटॊ ɢख़

Mode of operation/ मख़ड ऑफ ऑपरॕषन

Topology/ टख़पख़लॗजॎ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Topology/ टख़पख़लॗजॎ 

6)
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Question Stimulus :­

Computer 

Protocol suite for the Current Internet is­/ शत१मॊन इॠटरनॕट कॕ ोलए ঋख़टख़कॗल  ॐऺट ऻॖ­

TCP/IP/ टॎऺॎपॎ/आईपॎ

NCP/ एनऺॎपॎ

UNIX/ यॐोनস

ACM/ एऺॎएम

Correct Answer :­TCP/IP/ टॎऺॎपॎ/आईपॎ 

7)

Question Stimulus :­

Computer

______ layer is responsible for ‘process to process’ delivery?/ _____ लॕयर
‘ঋख़ऺॕऺ टॐ  ঋख़ऺॕऺ’ ोडोलशरॎ कॕ ोलए ोजʃॕदॊर ऻख़तॎ ऻॖ?

Data link layer/ डॕटॊ ोलॠक लॕयर

Session layer/ ऺॕषन लॕयर

Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर

Network layer/ नॕटशक१  लॕयर

Correct Answer :­Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर 

8)

Question Stimulus :­

Computer

Logical design of database is known as­/ डॕटॊबॕऺ कॕ लॗोजकल ोडिॊइन कख़ कऻतॕ ऻ॰­

Database schema/ डॕटॊबॕऺ ॺपरॕखॊ

Database Instance/ डॕटॊबॕऺ इॠ ७ːऺ

Database snapshot/ डॕटॊ ˘ॖपषॗट
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Database design/ डॕटॊबॕऺ ोडिॊइन

Correct Answer :­Database schema/ डॕटॊबॕऺ ॺपरॕखॊ 

9)

Question Stimulus :­

Computer

Which of the following can be taken as a primary key?/ ोनɻ म७ ऺॕ कग़न­ऺॊ
ঋॊथोमक कॏॠ जॎ कॕ ॺप म७ ोलयॊ जॊ ऺकतॊ ऻॖ?

Name/नॊम

Id/आईडॎ

Street/ऺीक

Department/ोडपॊट१म७ट

Correct Answer :­Id/आईडॎ 

10)

Question Stimulus :­

Computer 

SDL stands for­/ एऺडॎएल कॊ पॐण१ ॺप ऻॖ­

Storage discrete localisation/ ːख़रॕज ोड्ˌट लख़कॕलॊइजॕषन

Storage definition localisation/ ːख़रॕज डॕोफनॕषन लख़कॕलॊइजॕषन

Storage definition language/ ːख़रॕज डॕोफनॕषन ल॰৖ॕज

Storage discrete language/ ːख़रॕज ोड्ˌट ल॰৖ॕज

Correct Answer :­Storage definition language/ ːख़रॕज डॕोफनॕषन ल॰৖ॕज 

Topic:­ General Science
1)

Question Stimulus :­

General Science
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What is PH value of human blood?/ मॊनश रঢ कॊ PH मॊन ोकतनॊ ऻख़तॊ ऻॖ?

7

7.2

7.4

7.8

Correct Answer :­

7.4 

2)

Question Stimulus :­

General Science

In a human body, the basic building block are­/ मॊनश षरॎर म७ मॏূ  ॠऺरचनॊȏक इकॊई ऻॖ­

Muscles/ ˘ॊयॏ

Nerves/ न ७ऺ

Cells/ कख़ोषकॊय७

Bones/ ऻोਊयॊँ

Correct Answer :­Cells/ कख़ोषकॊय७ 

3)

Question Stimulus :­

General Science

Approximately how much time does a Sun ray take reaching Earth?/  ॐऺय१ ऺॕ प॑țॎ तक ঋकॊष
पॽँचनॕ म७ ोकतनॊ ऺमय लगभग लगतॊ ऻॖ?

400 seconds/ 400 ऺॕकॠ ड

500 seconds/ 500 ऺॕकॠ ड

600 seconds/ 600 ऺॕकॠ ड

700 Seconds/ 700 ऺॕकॠ ड
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Correct Answer :­500 seconds/ 500 ऺॕकॠ ड 

4)

Question Stimulus :­

General Science

Which among the following molecule is rarely found in universe but abundant on earth?/
ोनɻ म७ ऺॕ कग़न ऺॊ पदॊथ१ अॠतौर঴ म७ उप्̾थत नऻॎ ॠ ऻॖ, परȶॏ प॑țॎ पर ঋचॏर मॊআॊ म७ ऻॖ?

CO 2

O2

CH4

He

Correct Answer :­O2 

5)

Question Stimulus :­

General Science

Which of the following Kingdom represents bacteria?/ ोनɻ म७ ऺॕ कग़न­ऺॊ जगत बॖঠॎौरयॊ कॊ
ঋोतोनोधȕ करतॊ ऻॖ?

Monera/ मख़नॕरॊ

Protista/ ঋख़ोटː

Protozoa/ ঋख़टख़जख़आ

Metazoa/मॕटॊजख़आ

Correct Answer :­Monera/ मख़नॕरॊ 

6)

Question Stimulus :­

General Science

Which among the following laws of Physics explain about the elliptical orbits of
planetary bodies?/ ोनɻ म७ ऺॕ कग़न­ऺॊ भग़ोतक ोनयम ঁऻ­ोपਔख़ॠ कॕ परशलयॊकॊर क঴ कख़ ঋदोष१त करतॊ ऻॖ?
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Newton's Law/ Ɋॐटन कॊ ोनयम

Kepler's Law/ कॕपलर कॊ ोनयम

Snell's law/ ˘ॕल कॊ ोनयम

Coulomb's law/ कॏ ल ॠॗɾ कॊ ोनयम

Correct Answer :­Kepler's Law/ कॕपलर कॊ ोनयम 

7)

Question Stimulus :­

General Science

On which of the following the weight of a person will be minimum?/ ोनɻ म७ ऺॕ कऻॊँ ोकऺॎ
ʩ्ঢ कॊ भॊर Ɋॐनतम ऻख़गॊ?

Venus/ षॏॿ

Mars/ मॠगल ঁऻ

Moon/ चॠঈ्मॊ

Mercury/ पॊरॊ

Correct Answer :­Moon/ चॠঈ्मॊ 

8)

Question Stimulus :­

General Science

The "Planetoids" are located between which of the following?/ अॠतौर঴ म७ “঴ॏঈঁऻ”, ोनɻ म७ ऺॕ
ोकन कॕ बॎच उप्̾थत ऻख़तॕ ऻ॰?

Mars and Jupiter/ मॠगल और ब॑ऻ˙ोत

Saturn & Jupiter/ षोन और ब॑ऻ˙ोत

Mercury and Venus/ बॏध और षॏॿ

Earth & Mars/ प॑țॎ और मॠगल ঁऻ

Correct Answer :­Mars and Jupiter/ मॠगल और ब॑ऻ˙ोत 
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9)

Question Stimulus :­

General Science

Deficiency of Tocopherol leads to sterility in males and females. The popular word for
Tocopherol is _____?/ टख़कख़ोफरॊल कॎ कमॎ नर श मॊदॊ म७ नपॏॠऺकतॊ उȋɄ कर ऺकतॎ ऻॖ। टख़कख़ोफरॊल कख़
ऺॊमॊɊतॡ जॊनॊ जॊतॊ ऻॖ।

Vitamin B3/ ोशटॊोमन बॎ3

Vitamin K/ ोशटॊोमन कॕ

Vitamin E/ ोशटॊोमन ई

Vitamin C/ ोशटॊोमन ऺॎ

Correct Answer :­Vitamin E/ ोशटॊोमन ई 

10)

Question Stimulus :­

General Science

Water at 3.98o C has______./ जल 3.98o C कॊ पर _____ ऻख़तॊ ऻॖ।

minimum density/ Ɋॐनतम घनȕ

maximum density/ ऺशॊ१ोधक घनȕ

maximum weight/ ऺशॊ१ोधक भॊर

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­maximum density/ ऺशॊ१ोधक घनȕ 

11)

Question Stimulus :­

General Science

Which among the following is edible?/ ोनɻ म७ ऺॕ कग़न­ऺॊ खॊनॕ यख़৓ ऻॖ?

Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊबॳनॕट

Sodium Carbonate/ ऺख़ोडयम कॊबॳनॕट
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Sodium Dioxide/ ऺख़ोडयम डॊइऑসॊइड

Sodium Hydroxide/ ऺख़ोडयम ऻॊइड३ ॗসॊइड

Correct Answer :­Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊबॳनॕट 

12)

Question Stimulus :­

General Science

What does contain "Red Data Book”? / ” रॕड डॕटॊ बॏक” म७ ভॊ ऻख़तॊ ऻॖ?

Astrology/ खगख़ल षॊ˓

Endangered wild plants, animals/ लॏɑ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ

Communism/ ऺमॊजशॊदॎ

Endangered Forests/ लॏɑঋॊय जॠगल

Correct Answer :­Endangered wild plants, animals/ लॏɑ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ 

13)

Question Stimulus :­

General Science

In context with Science and Technology development of China, what is Tianhe­I?/ ोश৯ॊन श
ঋग़Ȩख़ोगक कॕ ोशकॊऺ म७ चॎन कॊ ोतयॊनॕ­I ভॊ ऻॖ?

A satellite/ एक उपঁऻ

A space station/ एक अॠतौर঴ ːॕषन

A super computer/ एक  ॏऺपर क̱ɗॐटर

A proposed GPS/ एक ঋˑॊोशत जॎपॎएऺ

Correct Answer :­A super computer/ एक  ॏऺपर क̱ɗॐटर 

14)

Question Stimulus :­

General Science
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Which among the following can be measured with Anemometer?/ एनॎमख़मॎटर ऺॕ ोनɻ म७ ऺॕ ভॊ
मॊपॊ जॊतॊ ऻॖ?

Water Velocity/ पॊनॎ कॊ शॕग

Wind Velocity/ पशन कॊ शॕग

Relative Humidity/ ऺॊपॕ঴ आঈ१तॊ

Absolute Humidity/ ोनरपॕ঴ आঈ१तॊ

Correct Answer :­Wind Velocity/ पशन कॊ शॕग 

15)

Question Stimulus :­

General Science

Which is the most abundant metal in the Earth's crust?/ प॑țॎ कॎ ऺतऻ पर कग़न­
ऺॎ धॊतॏ ऺशॊ१ोधक पॊयॎ  जॊतॎ ऻॖ?

Silicon/ ोऺोलकन

Iron/ लख़ऻॊ

Aluminium/ एʞॏोमोनयम

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Aluminium/ एʞॏोमोनयम 

Topic:­ General Reasoning
1)

Question Stimulus :­

Logical Reasoning

In the following question, there is a certain relationship between two given words on
one side of :: and one word is given on another side of :: while another word is to be
found from the given alternative, having the same relation with this word as the words
of the given pair bear. Choose the correct alternative./नॎचॕ ोदए गए ঋʲ म७ ोचɎ (::) कॕ बॊॠई ओर दख़
पद ोदए गए ऻ॰। ोजनम७ आपऺ म७ एक ঋकॊर ऺॕ कख़ई ऺɾɀ ऻॖ, ठॎक इऺॎ ঋकॊर कॊ ऺɾɀ ोचɎ (::) कॕ दॊॠई और ोदए
गए पद तथॊ उऺकॕ नॎचॕ ोदए गए ोशकʙख़ॠ म७ ऺॕ ोकऺॎ एक पद कॕ बॎच म७ भॎ ऻॖ। शऻॎ ोशकʙ कॊ पद उȅर ऻॖ। ऺऻॎ ोशकʙ
कॊ चयन कर७।

Manipur : Imphal : : Rajasthan : ?/ मोणपॏर : इॠफॊल : : रॊज̾थॊन : ?

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Udaipur/ उदयपॏर

Ajmer/ अजमॕर

Jaipur/ जयपॏर

India/ भॊरत

Correct Answer :­Jaipur/ जयपॏर 

2)

Question Stimulus :­

Logical Reasoning

Pointing towards a boy, Sonam said, “He is the son of the only sister of my father”. How
is the boy related to sonam?/ एक लीकॕ कॎ और इषॊरॊ करतॕ ॽए ऺख़नम नॕ कऻॊ, “शऻ मॕरॕ ोपतॊ कॎ इकलग़तॎ
बऻन कॊ बॕटॊ ऻॖ”। लीकॊ, ऺख़नम ऺॕ ोकऺ ঋकॊर  ॠऺबॠोधत ऻॖ?

Nephew/ भतॎजॊ

Son/ पॏআ

Brother/ भॊई

Cousin/ कोिन

Correct Answer :­Cousin/ कोिन 

3)

Question Stimulus :­

Logical Reasoning

What is the angle traced by hour hand in 20 minutes?/ 20 ोमनट म७ घॠटॕ कॎ  ॏऺई
ोकतनॊ कख़ण बनॊएगॎ?

20o

10o

25o

75o
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Correct Answer :­10o 

4)

Question Stimulus :­

Logical Reasoning

If day before yesterday was Monday, when will be Saturday?/ योद बॎतॕ ॽए कल कॕ पऻलॊ शॊलॊ
ोदन ऺख़मशॊर थॊ, तख़ षोनशॊर कब ऻख़गॊ?

Tomorrow/ आनॕ शॊलॊ कल

Day after tomorrow/ आनॕ शॊलॕ कल कॕ बॊद शॊलॊ ोदन

Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद 

5)

Question Stimulus :­

Logical Reasoning  

From Parul’s home, she goes to her school which is 10 kms towards north. From there,
she turns right and goes 15 kms. After that she again turns right goes 5 kms and then
turns right and goes 15 kms. Now, how far is she from her starting point?/ पॊॹल अपनॕ घर ऺॕ

ॐ̀ ल जॊतॎ ऻॖ जख़ 10 ोकमॎ उȅर कॎ ओर ऻॖ। ोफर शऻ शऻॊँ ऺॕ दॊएॠ  मॏीतॎ ऻॖ और 15 ोकमॎ. जॊतॎ ऻॖ। इऺकॕ बॊद शऻ दॊएॠ
मॏीकर 5 ोकमॎ जॊतॎ ऻॖ और ोफर दॊएॠ  मॏीकर 15 ोकमॎ जॊतॎ ऻॖ। अब शऻ अपनॕ ঋॊरॠ ोभक ोबॠदॏ ऺॕ ोकतनॎ दॐ र ऻॖ?

10 kms

25 kms

15 kms

5 kms

Correct Answer :­5 kms 

6)

Question Stimulus :­

Logical Reasoning
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In the following options, three of them are alike in a certain way and thus form a group.
Which one does not belong to that group?/ ोनɻ ोशकʙख़ॠ म७ ऺॕ तॎन एक ोनोʮत तरॎकॕ ऺॕ ऺमॊन ऻ॰ और
इऺोलए एक ऺमॐऻ बनॊतॕ ऻ॰। कग़न­ऺॊ एक, इऺ ऺमॐऻ ऺॕ ऺɾ्ɀत नऻॎ ॠ ऻॖ?

Black : 25

Orange : 36

Blue : 12

Magenta : 49

Correct Answer :­Blue : 12 

7)

Question Stimulus :­

Logical Reasoning  

In  the  given  arrangement, which  is  the  4th  letter/digit/symbol  to  the  right  of  the  14th
letter/digit/symbol from right end?/ दॎ गई ʩश̾थॊ म७, दॊएँ छख़र ऺॕ 14श७ अ঴र/अॠक/ोचɎ कॕ दॊएँ ऺॕ 4थॊ
अ঴र/अॠक/ोचɎ कग़न ऺॊ ऻॖ?

4 7 I ? J 2 T @ # S 5 P Q % U & X C

#

S

7

@

Correct Answer :­# 

8)

Question Stimulus :­

Logical Reasoning

In a certain code language SHEEPS is written as TGFDQR , MOULDS is
written as NNVKER, then how will ORANGE be written in that code?/ ोकऺॎ
कॐ ट भॊहॊ म७, SHEEPS कख़ TGFDQR ोलखतॕ ऻ॰ , MOULDS  कख़ NNVKER ोलखतॕ ऻ॰, इऺ कॐ ट
म७ ORANGE कख़ कॖऺॕ ोलख७गॕ?

PQBMHD
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PSBOHF

PTDRML

QTCPIG

Correct Answer :­PQBMHD 

9)

Question Stimulus :­

Logical Reasoning

Which of the answer figures is exactly the mirror image of the given figure when the
mirror is held at PQ?/ कग़न ऺॎ उȅर आक॑ोत पॐण१ ॺप ऺॕ दॎ गयॎ आक॑ोत कॊ दप१ण ঋोतोबɾ ऻॖ। जब दप१ण PQ
पर रखॊ गयॊ ऻॖ?

Question figure/ ঋʲ आक॑ोत

Answer figure/ उȅर आक॑ोत

(a)

(b)

(c)

(d)

Correct Answer :­(a) 

10)

Question Stimulus :­

Logical Reasoning
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What  will  come  in  place  of  the  question  mark  (?)  in  the  following  number  series?  /
ोनɻोल्खत  ॠऺূॊ ঋणॊलॎ म७ ঋʲशॊचक ोचɎ (?) कॕ ̾थॊन पर ভॊ आयॕगॊ?

1, 2, 5, 10, ?, 26, 37

15

12

17

24

Correct Answer :­17 

11)

Question Stimulus :­

Logical Reasoning

If the first and second letters of the word PREPARATIONS were inter­changed, also third
and fourth letter, fifth and sixth letter and so on, then which letter would be ninth from
left end?/ योद षɨ PREPARATIONS म७ पऻलॕ और दॐ ऺरॕ अ঴र कख़ आपऺ म७ बदल ोलयॊ जॊए और इऺॎ तरऻ
तॎऺरॕ और चग़थॕ अ঴र कख़, पॊॠचशॕ और छटश७ अ঴र कख़ और इऺॎ तरऻ ऺॕ आगॕ, तख़ बॊएॠ  छख़र ऺॕ 9शॊँ अ঴र कग़न ऺॊ ऻख़गॊ ?

O

I

A

T

Correct Answer :­O 

12)

Question Stimulus :­

Logical Reasoning

Three positions of a dice is given. Which is the number opposite to 2?/ एक पॊॠऺॕ कॎ तॎन
्̾थोतयॊँ दॎ गयॎ ऻ॰। 2 कॕ ोशपरॎत कग़न ऺॊ अॠक ऻख़गॊ?
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1

5

6

4

Correct Answer :­5 

13)

Question Stimulus :­

Logical Reasoning

Seven children A, B, C, D, E, F, G are standing in a queue from top to
bottom. E is at fifth place. Only C is between A and B. G is at bottom. B is
three places after F. What is the position of D from top?/ ऺॊत बৡॕ A, B, C, D,
E, F, G एक पॠ्ঢ म७ ऊपर ऺॕ नॎचॕ  खीॕ ॽए ऻ॰। E पॊॠचशॕ ̾थॊन पर ऻॖ। कॕशल C, A और B कॕ बॎच म७
ऻॖ। G ऺबऺॕ नॎचॕ ऻॖ। B, F कॕ तॎन ̾थॊन पॎछॕ ऻॖ। ऊपर ऺॕ D कॊ ̾थॊन ভॊ ऻख़गॊ?

Fourth/ चग़थॊ

Sixth/ छटशॊँ

Second/ दॐ ऺरॊ

Last/ अॠोतम

Correct Answer :­Sixth/ छटशॊँ 

14)

Question Stimulus :­

Logical Reasoning

DIRECTIONS/ोनद८ष: In the question below are given two statements followed by two
conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance from commonly known facts. Read both the conclusions and
then decide which of the given conclusions logically follows from the given statements./
नॎचॕ ोदयॕ गए ঋʲ म७ दख़ कथन और उऺकॕ नॎचॕ दख़ ोनʺह१ I और II ोदए गए ऻ॰। आपकख़ ोदए गए कथनख़ ॠ कख़ ऺȑ मॊननॊ
ऻॖ। भलॕ ऻॎ शॕ ऺश१৯ॊत तȚख़ॠ ऺॕ ोभɄत ঋतॎत ऻख़। दख़नख़ ॠ ोनʺहॵ कख़ पोुए और ोफर तय कॎोजए ोक कग़न ऺॊ ोनʺह१ ोदए
गए कथनख़ ॠ कॊ तक१   ॠऺगत ॺप ऺॕ अनॏऺरण करतॊ ऻॖ।

 

Statements/कथन:
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All roses are flowers./ ऺभॎ गॏलॊब फॐ ल ऻ॰।

All flowers are trees./ ऺभॎ फॐ ल पॕी ऻ॰।

Conclusions/ोनʺह१:

I. All trees are roses./ ऺभॎ पॕी गॏलॊब ऻ॰।

II. Some flowers are roses./ कॏ छ फॐ ल गॏलॊब ऻ॰।

If only Conclusion I follows/ योद कॕशल ोनʺह१ I अनॏऺरण करतॊ ऻॖ

If only Conclusion II follows/ योद कॕशल ोनʺह१ II अनॏऺरण करतॊ ऻॖ

If either Conclusion I or II follows/ योद यॊ तख़ ोनʺह१ I यॊ II अनॏऺरण करतॊ ऻॖ

If both Conclusions I and II follow/ योद दख़नख़ ॠ ोनʺह१ I और II अनॏऺरण करतॕ ऻ॰

Correct Answer :­If only Conclusion II follows/ योद कॕशल ोनʺह१ II अनॏऺरण करतॊ ऻॖ 

15)

Question Stimulus :­

Logical Reasoning

Out of  the  five  figures  that  follow, you are  to  indicate which  figure will best  represent
the relationship amongst the three classes/ोनɻ दॎ गई पॊॠच आक॑ोतयख़ ॠ म७ ऺॕ उऺ आक॑ोत कख़ चॏोनयॕ, जख़
इन तॎन शगॳ कॕ बॎच ऺɾɀ कख़ दषॊ१तॊ ऻॖ।

Colours, Yellow, Blue/ रॠग, पॎलॊ, नॎलॊ

(I)

(II)

(III)

(V)
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Correct Answer :­(III) 

Topic:­ General Maths
1)

Question Stimulus :­

Maths

In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/
एक परॎ঴ॊ म७ एक छॊআ ঋत् यॕक ऺऻॎ उत् तर कॕ ोलए 1 अॠक ঋॊप् त करतॊ ऻॖ और ঋत् यॕक गलत उत् तर कॕ
ोलए 1/4 अॠक कम ोकयॕ जॊतॕ ऻ॰। योद उऺनॕ कॏ ल 70 ঋष् न ऻल ोकए और 40 अॠक ঋॊप् त ोकयॕ, तख़
उऺनॕ ोकतनॕ ঋष् न ऺऻॎ ऻल ोकयॕ?

42

46

52

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­46 

2)

Question Stimulus :­

Maths

Arrange the fractions  ,  ,  ,   in ascending order./ोभɄख़ ॠ  ,  ,  ,    कख़ आरख़ऻॎ
ॿम म७ श् यश्̾थत कर७।

 <    <   < 

 <   <  < 

 <   <   < 

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­  <   <   <   
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3)

Question Stimulus :­

Maths 

In a forest which has only deer and humans. There are 80 heads and 230
legs. How many humans are there? /एक जॠगल म७ जऻॊँ कॕशल ोऻरण और मनॏह् य ऻ॰। शऻॊँ
80 ोऺर और 230 पॖर ऻ॰। शऻॊँ ोकतनॕ मनॏह् य ऻ॰?

40

25

35

45

Correct Answer :­45 

4)

Question Stimulus :­

Maths

A salesman bought toffees at 7 for a rupee. How many toffees for a rupee
he must sell to gain 40%?/ एक श् यॊपॊरॎ 1 ॹपयॕ म७ 7 टॗफॎयॊँ खरॎदतॊ ऻॖ। शऻ 1 ॹपयॕ म७
ोकतनॎ टॗफॎयॊँ बॕचॕ तॊोक  40% कॊ लॊभ ऻख़?

3

4

5

6

Correct Answer :­5 

5)

Question Stimulus :­

Maths 

A fruit seller had some bananas. He sold 20% bananas and still has 128
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bananas. How many bananas he had initially?/ एक फल ोशॿॕतॊ कॕ पॊऺ कॏ छ कॕलॕ
थॕ। उऺनॕ 20% कॕलॕ बॕच ोदए और ोफर भॎ उऺकॕ पॊऺ 128 कॕलॕ बचॕ ॽए ऻ॰। उऺकॕ पॊऺ षॏॹआत म७ ोकतनॕ
कॕलॕ थॕ?

156

160

176

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­160 

6)

Question Stimulus :­

Maths

At what rate of compound interest per annum will a sum of Rs.1200
become Rs.1323 in 2 years?/ ोकतनॕ ঋोतषत शॊोह१क चॿश्॑Ƞ ब् यॊज कॎ दर ऺॕ ॹ.1200,
2 शह१ म७ ॹ.1323 ऻख़ जॊएँगॕ?

6%

4%

5%

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­5% 

7)

Question Stimulus :­

Maths

Rajesh and Shakshi are partners in a business. Rajesh invests Rs.35,000
for 8 months and Shakshi invests Rs.42,000 for 10 months. Out of a profit
of Rs.31,570 Rajesh’s share is (in Rupees)./रॊजॕष और ऺॊ঴ॎ एक ʩशऺॊय म७
ऺॊझॕदॊर ऻ॰। रॊजॕष 8 मऻॎनॕ कॕ ोलए ॹ.35000 ोनशॕष करतॊ ऻॖ और ऺॊ঴ॎ 10 मऻॎनॕ कॕ ोलए
ॹ.42,000 ोनशॕष करतॎ ऻॖ। कॏ ल लॊभ ॹ.31,570 म७ रॊजॕष कॊ ोऻऺ् ऺ ॊ (ॹपयॕ म७) ऻॖ:­

12,628
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14,060

16,162

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­12,628 

8)

Question Stimulus :­

Maths

A boy rides his bicycle 10 km at an average speed of 15 km/hr and again
travels 15 km at an average speed of 10 km/hr. His average speed (in
km/hr) for the Entire trip is:/एक लीकॊ 15 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 10 ोकमॎ ऺॊइकल ऺॕ जॊतॊ ऻॖ
और पॏन: 10 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 15 ोकमॎ जॊतॊ ऻॖ। पॐरॎ यॊআॊ कॕ ोलए उऺकॎ औऺत गोत (ोकमॎ/घॠटॕ म७)
ऻॖ:­

13

7

7

11

Correct Answer :­11  

9)

Question Stimulus :­

Maths

Pavan is twice efficient than Rakesh. If together they finish a piece of
work in 15 days. The number of days taken by Pavan alone to finish the
work is:/पशन कॎ कॊय१঴मतॊ रॊकॕष ऺॕ दख़गॏनॎ ऻॖ। योद दख़नख़ ॠ एक ऺॊथ ोकऺॎ कॊम कख़ 15 ोदन म७
कर ऺकतॕ ऻ॰ तख़ पशन कख़ अकॕलॕ कॊम ऺमॊप् त करनॕ म७ लगॕ ोदनख़ ॠ कॎ  ॠऺख् यॊ ऻॖ­

10

25
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22

27

Correct Answer :­22  

10)

Question Stimulus :­

Maths 

The average of 5 consecutive even number is 18. Find the largest
number./5 लगॊतॊर ऺम  ॠऺख् यॊओॠ कॊ औऺत 18 ऻॖ। ऺबऺॕ बीॎ  ॠऺख् यॊ ৯ॊत कर७ ।

20

22

24

28

Correct Answer :­22 

11)

Question Stimulus :­

Maths

The speeds of three bus are in the ratio of 2:3:4 respectively .The ratio
between the time taken by them to travel the same distance is:/तॎन बऺख़ ॠ कॎ
गोत कॊ अनॏपॊत ॿमष: 2:3:4 ऻॖ। ऺमॊन दॐ रॎ तय करनॕ म७ उनकॕ Ȫॊरॊ लगॕ ऺमय कॊ अनॏपॊत ऻॖ:

3:4:6

4:3:2

3:6:4

6:4:3

Correct Answer :­6:4:3 

12)
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12)

Question Stimulus :­

Maths

In what ratio water must be mixed with milk costing Rs.24 per liter to
obtain a mixture worth of Rs.16 per liter?/ॹ.24 ঋोत लॎटर कॕ दॐ ध कॕ ऺॊथ ोकऺ
अनॏपॊत म७ पॊनॎ ोमलॊयॊ जॊए तॊोक ोम঒ण कॊ मॐल् य ॹ.16 ঋोत लॎटर ऻख़?

1:2

1:3

2:3

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­1:2 

13)

Question Stimulus :­

Maths

10 years ago, saloo was half of Rehan in age. If the ratio of their present
ages is 3:4, what is the present age of saloo (in years)?/10 शह१ पॐश१ षॊलॐ कॎ
आयॏ रॕऻॊन कॎ आयॏ कॎ आधॎ थॎ। योद उनकॎ शत१मॊन आयॏ कॊ अनॏपॊत 3:4 ऻॖ तख़ षॊलॐ कॎ शत१मॊन
आयॏ (शह१ म७) क् यॊ ऻॖ?

10

15

20

25

Correct Answer :­15 

14)

Question Stimulus :­

Maths 

The probability that a card drawn from a pack of 52 cards will be a king
is:/52 तॊष कॕ पत् तॕ कॎ गਊॎ ऺॕ ोनकॊलॕ गयॕ 1 पत् तॕ कॕ बॊदषॊऻ कॕ पत् तॕ ऻख़नॕ कॎ ঋॊोयकतॊ ऻख़गॎ:
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1/52

1/26

1/13

1/9

Correct Answer :­1/13 

15)

Question Stimulus :­

Maths

Find the total surface area (in cm2) of a cone of height 24 cm and base diameter
14 cm./24 ऺॕमॎ ऊँचॊई और 14 ऺॕमॎ आधॊर कॕ श् यॊऺ शॊलॕ एक षॠकॏ  कॊ कॏ ल प॑ह् ठ ঴ॕআफल (शग१ ऺॕमॎ म७)
৯ॊत कर७ ।

704

550

812

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­704 

Topic:­ Agriculture­Plant Physiology
1)

Question Stimulus :­

All are membrane bound cell organelles except/ोनɻ म७ ऺॕ ोकऺ एक कॕ अलॊशॊ ऺभॎ
ोझ्ʟयॊँ पौरोमत कख़ोषकॊ अॠगक ऻ॰?

Lysosomes/लॊइऺख़ऺख़म् ऺ           

Ribosomes/रॊइबख़ऺख़म  

Mitochondria/मॊइटख़कख़्ȵ३ यॊ   

Sphaerosomes /ऺ् फॕइरख़ऺख़म् ऺ
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Correct Answer :­Ribosomes/रॊइबख़ऺख़म   

2)

Question Stimulus :­

Peroxisome Contains/परऑসॎऺख़म म७ ऺ्ʃोलत ऻॖ­

Oxidases/आक् ऺ ॎडॕज         

Transferases/ट३ ॊॠऺफरॕज

Hydrolyzing enzyones/ऻॊइड३ ख़लॊइठोजग एॠ जॊइम

Isomerases/आइऺख़मरॕज

Correct Answer :­Oxidases/आक् ऺ ॎडॕज          

3)

Question Stimulus :­

Barbara Mc Clintock is famous for her work on/बॊरबरॊ मॕक् ोकलॠनटॊक अपनॕ ोकऺ
कॊम कॕ ोलए ঋोऺद ऻॖ?

Soyabean/ऺख़यॊबॎन

Basmati Rice/बॊऺमतॎ चॊशल

Pea/मटर

Maize/मक् कॊ

Correct Answer :­Maize/मक् कॊ 

4)

Question Stimulus :­

Golgi complex is/गॊल् जॎ कॗम् प् लॕक् ऺ  ऻॖ

Group of dictyosomes/ोडक् टयख़ऺख़म् ऺ  कॊ ऺमॐऻ

Group of respiration organelle/ष् शऺन अॠगक कॊ ऺमॐऻ
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Group of ribosomes/रॊइबख़ऺख़म कॊ ऺमॐऻ

Group of flagella /ɢॕिॕलॊ कॊ ऺमॐऻ

Correct Answer :­Group of dictyosomes/ोडक् टयख़ऺख़म् ऺ  कॊ ऺमॐऻ 

5)

Question Stimulus :­

Tonoplast encloses/टख़नख़प् लॊऺ् ट ऺमॊशरण ऻॖ­

Cytoplason/कख़ोषकॊঈश् य

DNA/डॎ एन ए

Vacuolar Sap/ौर्ঢकॊ रऺ

Nucleolus/न् यॐ्মयख़लऺ

Correct Answer :­Vacuolar Sap/ौर्ঢकॊ रऺ 

6)

Question Stimulus :­

Ribosomes are attached to the endoplasmic reticulum with the help of/
एॠ डख़प् लॊ्৷क रॕटॎकॏ लम ऺॕ रॊइबख़ऺख़म ोकऺकॎ मदत ऺॕ जॏडॕ ऻख़तॕ ऻ॰?

Hydrogen bond/ऻॊइड३ ख़जन बॠध

r­RNA/ आर­आर एन ए

Riboforins/रॊइबख़फख़ौरन् ऺ  

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­Riboforins/रॊइबख़फख़ौरन् ऺ   

7)

Question Stimulus :­

Hydrolytic enzymes of Lysosomes function mostly at/लॊइऺख़ऺख़म म७ पॊयॕ जॊनॕ शॊलॕ
जलअपशत१नॎय एन् जॊइम कॊय१ करतॕ ऻ॰­
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Basic pH/঴ॊरॎय pH पर

Acidic pH/अम् लॎय pH पर

Neutral pH/उदॊऺॎन pH पर

Any pH/ोकऺॎ भॎ pH पर

Correct Answer :­Acidic pH/अम् लॎय pH पर 

8)

Question Stimulus :­

One molecule of ATP when hydrolysed yields/एक ATP अणॏ अपघटन कॕ उपरॊन् त
दॕतॊ ऻॖ­

7.3 k cal

14.0 k cal

21 k cal

3.5 k cal

Correct Answer :­7.3 k cal 

9)

Question Stimulus :­

Cell organelle essential for photorespiration is/ ঋकॊषॎय ष् शऺन मॕ कग़न­ऺॊ
कख़ोषकॊ अॠग ऺऻॊयक ऻॖ?

Peroxisome/परऑসॎऺख़म

Dictyosome/ोडक् ोटयख़ऺख़म

Grana/ঁॕनॊ

Strona/ऺ् ट३ ख़मॊ

Correct Answer :­Peroxisome/परऑসॎऺख़म 

10)
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Question Stimulus :­

Forming face and maturing face are part of/ ॠऺगोठत प঴ और पौरपর प঴ भॊग ऻ॰­

Golgi complex/गॊल् जॎकॊम् पलॕक् ऺ  कॕ

Lysosome/लॊइऺख़ऺख़म कॕ

Nucleus/न् यॐ्মयऺ कॕ

Chloroplast/क् लख़रख़प् लॊऺ् ट कॕ

Correct Answer :­Golgi complex/गॊल् जॎकॊम् पलॕक् ऺ  कॕ 

11)

Question Stimulus :­

In dicots, Primary cell wall contains/ोȪबॎज पत् तॎ म७ ঋॊथोमक कख़ोषकॊ ोभोȅ म७
ऺ्ʃोलत ऻॖ­

Xyloglucans/जॊइलख़ग् लॐक७ ऺ

Arabinogalactans/एरॊोशनख़गॕलॕঠनऺ

Rhamnogalacturonans/रॕɻख़लख़गॕलॕक् टख़यॐरख़नॕनऺ

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­All of the above/उपरख़क् त ऺभॎ 

12)

Question Stimulus :­

Which of the following sequence of fibril is correct, in cell wall?/कख़ोषकॊ
ोभोȅ म७ ोनम् न म७ ऺॕ कग़न­ऺॊ फॊइो঍ल कॊ ॿम ऺऻॎ ऻॖ?

Macrofibril>Microfibril>Micelle>Cellulose chain

Microfibril>Micelle>Macrofibril>Cellulose chain

Micelle>Microfibril>Macrofibril>Cellulose chain

All are correct/ ऺभॎ ऺऻॎ ऻ॰
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Correct Answer :­Macrofibril>Microfibril>Micelle>Cellulose chain 

13)

Question Stimulus :­

Soil particles between 2.0mm­5.00mm is categorised as/ोमटटॎ कॕ कण
2.0mm­5.00mm  मॊप कख़ शग५ॿत ोकयॊ गयॊ

Coarse Sand/अपौरक॑त रॕत कॕ ॺप म७

Gravel/बज१रॎ ोशछॊनॊ कॕ ॺप म७

Silt/तलछट कॕ ॺप म७

Clay/ोचकनॎ ोमटटॎ कॕ ॺप म७

Correct Answer :­Gravel/बज१रॎ ोशछॊनॊ कॕ ॺप म७ 

14)

Question Stimulus :­

A typical loam Soil Contains/ঋॊॺोपक दख़मट ोमटटॎ म७ ऺ्ʃोलत ऻॖ­

 40% fine Sand/40% रॕत

30­40% Silt/30­40% कॎचड

10­15% Clay/10­15% ोचकनॎ ोमटटॎ

All of above/उपरख़ঢ ऺभॎ

Correct Answer :­All of above/उपरख़ঢ ऺभॎ 

15)

Question Stimulus :­

When all the gravitational water has moved down to the water table, the
remaining water content of soil is described as/जब ऺपॐण्१  गॏॺत् शॎय जल भॐ जल
ऺ् तर तक पॽच जॊतॊ ऻॖ, तब म॑दॊ म७ बचॊ ॽआ जल कऻलॊतॊ ऻॖ­

Field capacity/खॕत ঴मतॊ

Turgidity/आषॐनतॊ
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Capillarity/कख़ोषकत् श

All of above/उपरख़क् त ऺभॎ

Correct Answer :­Field capacity/खॕत ঴मतॊ 

16)

Question Stimulus :­

Water not absorbed by root hairs is/मॐल रख़मख़ Ȫॊरॊ ोकऺ जल कॊ अशषख़हण नऻॎ ऻख़तॊ
ऻॖ?

Gravitational water/गॏॺत् शॎय जल

Hygroscopic water/ऻॊइঁख़ऺ् कख़ोपक जल

Capillary water/कख़ोषकत् श जल

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­Capillary water/कख़ोषकत् श जल 

17)

Question Stimulus :­

When cells are Fully turgid then which pressure is zero?/जब कख़ोषकॊ पॐण१तॊ
आषॐन ऻख़ तख़ कख़न ऺॊ दॊब षॐन् य ऻख़गॊ?

Wall Pressure/ोभोȅ दॊब

Turgid Pressure/आषॐन दॊब

Suction Pressure/चॐहण दॊब

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­Suction Pressure/चॐहण दॊब 

18)

Question Stimulus :­
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Bond angle between two atoms of Hydrogen in water is/जल कॎ  ॠऺरचनॊ मॕ
ऻॊइड३ ख़जन कॕ दख़नख़ अणॏओॠ कॊ कख़ण ऻख़तॊ ऻॖ­

15o

105o

40o

90o

Correct Answer :­105o 

19)

Question Stimulus :­

According to Levitt which of the following accumulate guard cells during
opening of stomata/लॕोशट कॕ अनॏऺॊर रन् উ खॏलनॕ म७ र঴क कख़ोषकॊ कॎ ौर्ঢकॊ म७ एकोআत
ऻख़तॕ ऻ॰­

k+ ion/ k+ आयनन   

 k+ malate and water/ k+ मॕलॕट ओर जल

k+  & Mg2+ ions/) k+  ओर  Mg2+ आयनन

Water/ जल

Correct Answer :­ k+ malate and water/ k+ मॕलॕट ओर जल 

20)

Question Stimulus :­

Which is essential for active absorption of water?/जल कॕ ऺोॿय अशषख़हण कॕ ोलए
आशष् यक ঋॿम ऻॖ­

Ascent of Sap/रऺॊरख़ऻण

Respiration/ष् शऺन

Osmosis/परॊऺरण

Transpiration/शॊ˃ख़त् ऺ जन१
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Transpiration/शॊ˃ख़त् ऺ जन१

Correct Answer :­Osmosis/परॊऺरण 

21)

Question Stimulus :­

Rate of transpiration is measured by/ शॊ˃ख़त् ऺ जन१ दर मॊपॎ जॊतॎ ऻॖ­

Photometer/फख़टख़मॎटर Ȫॊरॊ

Potometer/पख़टख़मॎटर Ȫॊरॊ

Auxanometer/ऑक् ऺ ॕनख़मॎटर Ȫॊरॊ

Respirometer/रॕऺ् पॊयरख़मॎटर Ȫॊरॊ

Correct Answer :­Potometer/पख़टख़मॎटर Ȫॊरॊ 

22)

Question Stimulus :­

When Soil water contains more minerals, then transpiration/जब म॑दॊ जल म७
खोनजख़ ॠ कॎ मॊআॊ ज् यॊदॊ ऻख़तॎ ऻॖ, तब शॊ˃ख़त् ऺ जन१ कॎ दर­

Decreases/कम ऻख़ जॊतॎ ऻॖ

Increases/बी जॊतॎ ऻॖ

Is absent/अनॏप्̾थत रऻतॎ ऻॖ

Remains unaltered/अঋभॊोशत रऻतॎ ऻॖ

Correct Answer :­Decreases/कम ऻख़ जॊतॎ ऻॖ 

23)

Question Stimulus :­

To Explain ascent of Sap in plants Sir J.C. Bose (1923) proposed/जगदॎष
चन् ঈ बख़ऺ (1923) नॕ रऺॊरख़ऻण कख़ ऺमझॊनॕ कग़न­ऺॊ ोऺȠॊन् त ঋोतपॊोदत ोकयॊ?

Vital theory/जॖशशॊद

Physical force theories/भग़ोतकशॊद
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Physical force theories/भग़ोतकशॊद

Root pressure/मॐल दॊब

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­Vital theory/जॖशशॊद 

24)

Question Stimulus :­

Ringing Experiment was first performed by/शलयन ঋयख़ग ঋथम बॊर ोकऺनॕ ोकयॊ?

Strassburger/ऺ् ट३ ॊऺबग१र

Sir J.C. Bose/ऺर जॕ. ऺॎ. बख़ऺ

Hartig/ऻॊोट१ग

Dixon/ोडक् ऺ न

Correct Answer :­Hartig/ऻॊोट१ग 

25)

Question Stimulus :­

According to k+ H+ Exchange theory which Substance enter in the guard
cell?/ k+ H+ आदॊन ঋदॊन ोऺȠॊन् त कॕ अनॏऺॊर र঴क कख़ोषकॊओ म७ कख़न ऺॊ पदॊथ१ अॠदर जॊतॊ
ऻॖ?

Na+ in place of k+/ k+ कॎ जगऻ Na+

k+ in place of H+/ H+ कॎ जगऻ K+

H+ in  place of O2/O2 कॎ जगऻ H+

Oxalate in place of Malate/ मॕलॕट कॎ जगऻ आक् जॕलॕट

Correct Answer :­k+ in place of H+/ H+ कॎ जगऻ K+ 

26)
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Question Stimulus :­

According to Scarth, which of the following controls the opening & closing
of Stomata?/ऺ् कॊथ१ कॕ अनॏऺॊर ऺ् टख़मॕटॊ कॊ खॏलनॊ और बॠद ऻख़नॊ ोनयॠोআत ऻख़तॊ ऻॖ­

Ezymes/एॠ जॊइम Ȫॊरॊ

pH /pH Ȫॊरॊ

phosphorylation/फॊऺ् फख़रॊइलॕषन Ȫॊरॊ

formation of NADPH2/ NADPH2 कॕ ोनमॊ१ण Ȫॊरॊ

Correct Answer :­pH /pH Ȫॊरॊ 

27)

Question Stimulus :­

What is the action Spectrum of transpiration?/शॊह् पख़त् ऺ ज१न कॎ ोॿयॊ म७ क् यॊ
शण१ॿम बनतॊ ऻॖ?

Green & yellow/ ऻरॊ और पॎलॊ

Green & purple/ऻरॊ और ब॰गनॎ

Red & Green/लॊल और ऻरॊ

Blue & Red/नॎलॊ और लॊल

Correct Answer :­Blue & Red/नॎलॊ और लॊल 

28)

Question Stimulus :­

There is decrease in the rate of transpiration/शॊह् पख़त् ऺ ज१न कॎ दर कम ऻख़तॎ ऻॖ­

Due to sunken stomata/ धँऺॕ ॽयॕ ऺ् टख़मॕटॊ Ȫॊरॊ

Due to thick Cuticle/ मख़टॎ ोभोȅ ऺ् टख़मॕटॊ Ȫॊरॊ

Due to waxy Coating/ मख़म कॎ परत Ȫॊरॊ

All of the above/ उपरख़क् त ऺभॎ
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Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

29)

Question Stimulus :­

Which of the following is present between cell wall and cytoplasm as a
result of plasmolysis?/जॎशঈʩकॏॠ चन कॕ फलऺ् शॺप कख़ोषकॊोभोȅ एशॠ कख़ोषकॊ ঈश् य कॕ बॎच
ोनɻ म७ ऺॕ क् यॊ पॊयॊ जॊतॊ ऻॖ?

Water/पॊनॎ

Cytoplasm/कख़ोषकॊঈश् य

Air/शॊयॏ

Hypertonic Solution/ऻॊइपरटख़ोनक ोशलयन

Correct Answer :­Hypertonic Solution/ऻॊइपरटख़ोनक ोशलयन 

30)

Question Stimulus :­

Hydathodes are present in/जलरॠউ उप्̾थोत ऻख़तॕ ऻ॰­

Tomato/टमॊटर

Oat/ जग़

Grass/घॊऺ

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­All of the above/उपरख़क् त ऺभॎ 

31)

Question Stimulus :­

The actual pressure, with which water enters into the cell?/जल कख़ोषकॊ म७
ঋशॕष करतॊ ऻॖ तख़, शॊऺ् तोशक दॊब कऻलॊतॊ ऻॖ­ 

Wall pressure/ोभोȅ दॊब
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Diffusion pressure/ोशऺरण दॊब

Osmotic pressure/परॊऺरण दॊब

D.P.D./डॎ.पॎ.डॎ.

Correct Answer :­D.P.D./डॎ.पॎ.डॎ. 

32)

Question Stimulus :­

Usually transplanted seedlings do not surving because/ ঋॊय: नॊशख़ঈोमद
ट३ ॊॠऺप् लॊोटॠग करनॕ पर जॎोशत नऻॎ ॠ रऻतॕ ऻॖ, क् यख़ोक?

Most of root hairs are lost/अोधकॊॠष मॐलरख़म नह् ट ऻख़ जॊतॕ ऻ॰

They do not like new soil/शॕ नयॎ ोमਂॎ प ॠऺद नऻॎ ॠ करतॕ

Their leaves get damaged/पोȅयॊॠ चख़ोटल ऻख़ जॊतॎ ऻ॰

They do not get essential minerals/आशष् यक खोनज तत् श नऻॎ ॠ ोमल
पॊतॕ ऻ॰

Correct Answer :­Most of root hairs are lost/अोधकॊॠष मॐलरख़म नह् ट ऻख़ जॊतॕ ऻ॰ 

33)

Question Stimulus :­

Ringing experiments are not Successful in Monocot plant because/शलयन
ঋयख़ग, एकबॎजपআॎ म७ ऺफल नऻॎ ॠ ॽआ क् यख़ ॠोक­

V.B. is radially arranged/बॕऺॎकॏ लर बॠडल रॕडॎकलॎ अर७ज

Food moves through pit/ भख़जन कॊ जॊनॊ ोपट Ȫॊरॊ

Collateral V.B. are arranged in a ring/ फॕलॕঈश पॕऺॎकॏ लर खॠडन एक ौरॠग
म७

Collateral V.B. are found Scattered in ground tissue/कख़लॕट३ ल
बॕऺॎकॏ लर शॠडल ोबखरॕ ऻख़नॊ ऊतक म७

Correct Answer :­Collateral V.B. are found Scattered in ground tissue/
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कख़लॕट३ ल बॕऺॎकॏ लर शॠडल ोबखरॕ ऻख़नॊ ऊतक म७ 

34)

Question Stimulus :­

Which experiment proves the translocation of food material/भख़जन कॊ
ऺ् थॊनॊॠतरण, ोनम् न म७ ऺॕ कग़न­ऺॊ ঋयख़ग ोऺȠ करतॊ ऻॖ?

Grafting/ ঁॊ्ɝॠग

Ringing of Phloem/ शलयन ɢख़यम

Radioactive tracing method/ रॕडॕयख़एथ् क् टश ट३ ॕ ो ॠऺग ोशोध

Root pressure measurement/ॺट ঋॕषर मॕिरम७ट

Correct Answer :­Radioactive tracing method/ रॕडॕयख़एथ् क् टश ट३ ॕ ो ॠऺग ोशोध 

35)

Question Stimulus :­

Sugar translocation takes place through phloem. How will you show it
experimentally?/ षक१ रॊ कॊ ऺ् थॊनॊॠतरण ɢख़यम Ȫॊरॊ ऻख़तॊ ऻॖ। ঋयख़ग Ȫॊरॊ कॖऺॕ बतॊय७गॕ?

By cutting roots/ ॺट कोटॠग Ȫॊरॊ

Root pressure/ ॺट दॊब Ȫॊरॊ

By grafting/ ঁॊ्ɝॠग Ȫॊरॊ

By Cutting leaves/ पत् तॎ कॊट कर

Correct Answer :­By cutting roots/ ॺट कोटॠग Ȫॊरॊ 

36)

Question Stimulus :­

Who proposed streaming hypothesis of translocation of food material?/
भख़जन ऺ् थॊनॊॠतरण कॎ ऺ् ट३ ॎोमॠग पौरकल् पनॊ ोकऺनॕ दॎ?

Dixon/ ोडक् ऺ न

Hoagland/ ऻख़गल७ड
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Munch/ मॏॠच

J.C. Bose/ जॕ.ऺॎ. बख़ऺ

Correct Answer :­Munch/ मॏॠच 

37)

Question Stimulus :­

Passive absorption of ions by root system in contact with Soil colloids and
root Solution was demonstrated by/’’म॑दॊ कख़लॊइडख़ ॠ एशॠ मॐल घॏलॊश कॎ ऺऻॊयतॊ ऺॕ मॐल
तॠআ आयन् ऺ  कॊ ोन्ʻय अशषख़हण करतॊ ऻॖ’’, यऻ ঋोतपॊोदत ोकयॊ­

Hoagland/ ऻख़गल७ड नॕ

J.C. Bose/ जॕ.ऺॎ.बख़ऺ

Briggs & Robertson/ ो঍गऺ एशॠ रॗबट्१ऺन नॕ

Levitt/ लॕोशट नॕ

Correct Answer :­Briggs & Robertson/ ो঍गऺ एशॠ रॗबट्१ऺन नॕ 

38)

Question Stimulus :­

If a cell is placed in higher water concentration then it/ योद कख़ोषकॊ कख़ उच् च
जल ऺॊॠঈतॊ म७ रखॊ जॊयॕ तख़ ?

Increase in size/ उऺकॊ आकॊर बु जॊयॕगॊ

Plasmolysed / जॎशঈश् य कॏॠ चन

Shrinks/ शऻ  ॏऺकी जॊयॕगॎ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Increase in size/ उऺकॊ आकॊर बु जॊयॕगॊ 

39)

Question Stimulus :­
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Which of the following theories are proposed regarding permeability of
cell membrane?/ोनम् न म७ ऺॕ कग़न­ऺॎ पौरकल् पनॊ, कख़ोषकॊ ोझल् लॎ पॊरगम् यतॊ कख़ बतॊतॎ ऻॖ?

Retention pressure Theory/ रॎट७षन ঋषर ोऺȠॊॠत

Fluid Mosaic Theory/ɢॏइड मख़जॕइक मॊडल

Sieve Theory/ ऺॎत ोऺȠॊॠत

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

40)

Question Stimulus :­

In flaccid cell, the pressure potential is/ ोषोथल कख़ोषकॊ म७, ोशभश दॊब ऻख़तॊ ऻॖ­

zero/ षॐन् य

­10

 ­12

All are true/ उपरख़क् त ऺभॎ

Correct Answer :­zero/ षॐन् य 

41)

Question Stimulus :­

Enzymatic reaction are affected by/ एॠ जॊइमॕोटक ोॿयॊ ঋभॊोशत ऻख़तॎ ऻॖ­

Air/ऻशॊ ऺॕ

Water/ पॊनॎ ऺॕ

Temperature/ तॊपमॊन ऺॕ 

Chemicals/ रॊऺॊयोनक ऺॕ

Correct Answer :­Temperature/ तॊपमॊन ऺॕ  
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42)

Question Stimulus :­

According to Munch (1930), the living part of all cells including cytoplasm
& vacuums is a single unit and called as/ मॏॠच (1930) कॕ अनॏऺॊर ऺॊरॎ कख़ोषकॊओॠ
कॊ (जॎशঈश् य एशॠ शॖक् यॐत् ऺ  कख़ ऺ्ʃोलत कर) जॎोशत ोऻऺ् ऺ ॊ एक इकॊई ऻख़तॊ ऻॖ और इऺॕ कऻॊ जॊतॊ
ऻॖ­

Symplast/ोऺमप् लॊऺ् ट

Apoplast/ एपख़प् लॊऺ् ट

Totipontent/टख़टॎपख़ट७ऺॎ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Symplast/ोऺमप् लॊऺ् ट 

43)

Question Stimulus :­

Which of the following sterols are found in plants?/ ोनम् न म७ ऺॕ पग़धख़ ॠ, म७ कग़न­ऺॕ
ऺ् टॎरॗल पॊयॕ जॊतॕ ऻ॰?

Cholesterol / कख़लऺ् टॕरॗल

Ergosterol/एरगख़ऺ् टॕरॗल

Sitosterol/ ऺॎटख़ऺ् टॕरॗल

Ergosterol and Sitosterol both / एरगख़ऺ् टॕरॗल और ऺॎटख़ऺ् टॕरॗल दख़नख़ ॠ

Correct Answer :­Ergosterol and Sitosterol both / एरगख़ऺ् टॕरॗल और ऺॎटख़ऺ् टॕरॗल
दख़नख़ ॠ 

44)

Question Stimulus :­

Which of the following is missing link in the given sequence?/ोनम् न ॿम म७
कग़न­ऺॎ कीॎ छॐ टॎ ॽई ऻॖ?

 Mevalonate → Squalene    ? Sterol/ मॖक् लख़नॕट → ऺॖकॏ ोलन  ? ऺ् टॎरॗल
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Cycloartenol/ ऺॊइक् लख़एरॕोटनॗल

Calciferol/ कॖʤॎफॎरॗल

Cholesterol/ कख़लऺ् टॎरॗल

Cephalin/ोऺफॕोलन

Correct Answer :­Cycloartenol/ ऺॊइक् लख़एरॕोटनॗल 

45)

Question Stimulus :­

Which of the following helps plant in reducing epidermal­transpiration?/
ोनम् न म७ ऺॕ कग़न ऺतऻॎ­शॊह् पख़त् ऺ ज१न कख़ कम करनॕ म७ ऺऻॊयक ऻॖ?

Cutin/ क् यॐोटन

Cuticle/ क् यॐोटकल

Cholesterol/ कख़लऺ् टॕरॊल

Cutin and Cuticle both/ ভॐोटन और ভॏोटकल दख़नख़ ॠ

Correct Answer :­Cutin and Cuticle both/ ভॐोटन और ভॏोटकल दख़नख़ ॠ 

46)

Question Stimulus :­

All of the following amino acids are optically active & are levorotatory
except/ ोनम् न म७ ऺॕ ऺभॎ आमॎनख़ अम् ल ঋकॊषॎय ऺोॿय एशॠ लॎशख़रख़टरॎ ऻ॰, एक कख़ छख़ीकर­

Tryptophan/ ट३ ॎɐख़फन

Histidine/ ोऻऺ् टॎडॎन

Glycine/ग् लॊइऺॎन

Proline/ प् रख़ोलन

Correct Answer :­Glycine/ग् लॊइऺॎन 

47)
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Question Stimulus :­

According to Child & Gibson (1975) Rhizobium can fix nitrogen in artificial
media, even in the absence of host plant due to presence of / चॊइल् ड एशॠ
ोगब् ऺ न कॕ अनॏऺॊर, ोनम् न म७ ोकऺकॎ अनॏप्̾थोत म७ रॊइजख़ोबयम, पग़धॕ कॕ बॊऻर क॑ोআम मॊȯम म७ भॎ
नॊइट३ ख़जन ऺ् थरॎकरण कर ऺकतॊ ऻॖ?

Nif gene/ ोनफ जॎन

Nitorgenase/ नॊइट३ ख़ोजनॕज

Both the above/ उपरख़ঢ दख़नख़ ॠ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/ उपरख़ঢ दख़नख़ ॠ 

48)

Question Stimulus :­

Which of the following is electron donor during N2 fixation?/ N2 ्̾थरॎकरण म७
ोनम् न म७ ऺॕ कग़न इलॕक् ट३ ॊन दॊतॊ ऻॖ?

Nitrogenase/ नॊइट३ ख़ोजनॕि

Pyruvic acid/ पॊइॹोशक अम् ल

Glucose­6­Phosphate/ ग् लॐकख़ज­6­फॊऺ् फॕट

Acetate/ एऺॎटॕट

Correct Answer :­Pyruvic acid/ पॊइॹोशक अम् ल 

49)

Question Stimulus :­

Which bacterium is responsible for denitrification in nitrogen cycle?/ोनम् न म७
ऺॕ कग़न­ऺॊ बॖक् टॎौरयॊ नॊइट३ ख़जन चॿ म७ ोबनॊइट३ ॎकरण करतॊ ऻॖ?

Nitrobacter/ नॊइट३ ख़बॖक् टर

Nitrosomones/ नॊइट३ ख़ऺख़मख़नॊऺ
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Rhizobium/ रॊइजख़ोबयम

Bacillus subtilis/ बॕऺॎलऺ ऺबोटोलऺ

Correct Answer :­Bacillus subtilis/ बॕऺॎलऺ ऺबोटोलऺ 

50)

Question Stimulus :­

Which plant cannot fix atmospheric Nitrogen?/ कग़न ऺॊ पग़धॊ, शॊयॏमॠडलॎय
नॊइट३ ख़जन ्̾थरॎकरण नऻॎ ॠ करतॊ?

Gram/ चनॊ

Pea/ मटर

Castor/ अरॠडॎ

Bean/ ऺॕम

Correct Answer :­Castor/ अरॠडॎ 

51)

Question Stimulus :­

Two molecule of Glycine condense to form____with the release of a
molecule of co2 / ग् लॊइऺॎन कॕ दख़ अणॏ कॕ ঈशॎकरण____पर बनतॊ ऻॖ, और co2 कॊ अणॏ
मॏक् त ऻख़तॊ ऻॖ।

Serine/ ऺॎरॎन

Glutamine/ ग् लॐटॊोमन

Asparagine/ एऺ् पॕरॕोजन

Proline/ ঋख़ोलन

Correct Answer :­Serine/ ऺॎरॎन 

52)

Question Stimulus :­

In anaerobic respiration the value of RQ will be/ आनॊक् ऺ ॎ ष् शऺन कॕ दग़रॊन RQ
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In anaerobic respiration the value of RQ will be/ आनॊक् ऺ ॎ ष् शऺन कॕ दग़रॊन RQ
कॊ मॊन ऻख़गॊ?

Unity/ इकॊई

More than Unity/ इकॊई ऺॕ ज् यॊदॊ

Less then Unity/ इकॊई ऺॕ कम

Infinity/ अ ॠऺূ

Correct Answer :­Infinity/ अ ॠऺূ 

53)

Question Stimulus :­

If a leaf given a mechanical Shock in the form of bending or rubbing the
rate of respiration­/ योद पत् तॎ कख़ मख़ीनॕ यॊ ोघऺनॕ कॕ ॺप म७, यॊॠोআकॎय झॊटकॊ दॕतॕ ऻॖ तख़
ष् शऺन कॎ दर ऻख़गॎ?

Suddenly increase/ बुतॊ

Decrease/ कम

Remain stable/्̾थर रऻतॊ

Become zero/ षॐन् य ऻख़ जॊएगॎ

Correct Answer :­Suddenly increase/ बुतॊ 

54)

Question Stimulus :­

Number of ATP obtained from 24 H+ through ETS are/ ई.टॎ.एऺ. म७ 24 H+ कॕ
दग़रॊन ोकतनॕ ए.टॎ.पॎ. ঋॊप् त ऻख़तॕ ऻॖ?

32

36

40

42
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Correct Answer :­36 

55)

Question Stimulus :­

Liberation of energy in glucose by aerobic respiration was discovered by/
ऑসॎ ष् शऺन म७ ग् लॐकख़ज ऺॕ ऊजॊ१ ऺ् शतॠআ ऻख़तॎ ऻॖ, इऺकॎ खख़ज कॎ ऻॖ­

Hoagland/ऻख़गल७ड नॕ

Kreb/ ॿॕब नॕ

Kelvin/ कॕ्ʢन नॕ

Blackman/ ब् लॕकमॕन नॕ

Correct Answer :­Kreb/ ॿॕब नॕ 

56)

Question Stimulus :­

Connecting link between Glycolysis and Kreb’s cycle/ ग् लॊइकख़ोलोऺऺ एशॠ ॿॕब
चॿ कॎ जॏडॊश ঒॑ॠखलॊ ऻॖ?

Citric Acid/ ोऺोट३ क अम् ल

Aspartic Acid/ एऺ् पॊोट१क अम् ल

Acetyl Co enzyme A / एऺॎटॊइल कख़ एॠ जॊइम­ए

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Acetyl Co enzyme A / एऺॎटॊइल कख़ एॠ जॊइम­ए 

57)

Question Stimulus :­

In the first step of Oxidation of Kreb’s cycle isocitric acid is converted
into/ कॕश चॿ कॕ आक् ऺ ॎकरण कॕ ঋथम चरण म७ आइऺख़ऺॊइोट३ क अम् ल ोकऺम७ बदलतॊ ऻॖ?

Succinic Acid/ ऺक् ऺ ॎोनक अम् ल

Malic Acid/ मॖोलक अम् ल
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Oxalosuccinic Acid/ ऑक् जॕलख़ऺक् ऺ ॎोनक अम् ल

Oxaloacetic Acid/ अक् जख़लख़एोऺोटक अम् ल

Correct Answer :­Oxalosuccinic Acid/ ऑक् जॕलख़ऺक् ऺ ॎोनक अम् ल 

58)

Question Stimulus :­

In biological system, the redox potential is expressed at/ जॖश तॠআ म७, रॕडॊक् ऺ
ोशभश ঋदोष१त ऻख़तॊ ऻॖ­

pH 2 / pH 2 पर

pH 4 /pH 4 पर

pH 9 /pH 9  पर

pH 7 /pH 7  पर

Correct Answer :­pH 7 /pH 7  पर 

59)

Question Stimulus :­

During Glycolysis & Kreb’s cycle a pair of electron is released at/
ग् लॊइकख़ोलोऺऺ एशॠ  ॿॕब चॿ म७ इलॕঠ३ ॗन कॊ एक जख़ीॊ ोनकलतॊ ऻॖ­

2 places/ 2 ̾थॊन पर

6 places/6 ̾थॊन पर

10 places/10 ̾थॊन पर

12 places/12 ̾थॊन पर

Correct Answer :­6 places/6 ̾थॊन पर 

60)

Question Stimulus :­

Number of ATP formed during glycolysis are/ग् लॊइकख़ोलोऺऺ म७ ोकतनॕ एटॎपॎ बनतॕ

ऻ॰?
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ऻ॰?

8

34

12

30

Correct Answer :­8 

61)

Question Stimulus :­

Incomplete oxidation of sugar in anaerobic respiration leads to/ अनॊक् ऺ ॎ
ष् शऺन म७, षक१ रॊ कॕ अपॐण१ आक् ऺ ॎकरण ऺॕ बनतॊ ऻॖ?

H2o & CO2/ H2O एशॠ CO2

 Alcohol and CO2 /एल् कख़ऻल एशॠ CO2

Glucose and CO2 /ग् लॐकख़ज एशॠ CO2

Fructose and H2O /ঌक् टख़ज एशॠ H2O

Correct Answer :­ Alcohol and CO2 /एल् कख़ऻल एशॠ CO2 

62)

Question Stimulus :­

The Class of enzyme in which electrons or hydrogen are transferred from
one substrate to another is/ एॠ जॊइम कॎ शऻ ঒ॕणॎ ोजऺम७ इलॕक् ट३ ॊन यॊ ऻॊइड३ ख़जन एक
ोॿयॊधॊर ऺॕ दॐ ऺरॕ ोॿयॊधर म७ पौरशोत१त ऻख़तॕ ऻॖ­

Oxidoreductase/ ऑक् ऺ ॎडख़ौरड्ঠश

Transferase/ ट३ ॊॠऺफरॕज

Hydrolases/ ऻॊइड३ ख़लॕज

Lyases/ लॊइएज
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Correct Answer :­Oxidoreductase/ ऑक् ऺ ॎडख़ौरड्ঠश 

63)

Question Stimulus :­

The conifers show less response in the blue light because­/ नॎलॕ ঋकॊष म७
कख़नॎफ १ऺ कम ঋोतोॿयॊ दषॊ१तॕ ऻ॰, ভख़ॠोक ­

Of their waxy blue­green needles/ उनकॕ पॊऺ ऻ॰, मख़म यॏक् त नॎलॕ­ऻरॕ
कॊॠटॕ

Reflect more blue light/ शऻ अोधक नॎलॊ ঋकॊष परशोत१त करतॕ ऻ॰

They contain high amount of yellow pigment/उनम७ अोधक मॊআॊ म७
पॎलॊ शण१क ऻख़तॊ ऻॖ

All the of above/ उपरख़क् त ऺभॎ

Correct Answer :­All the of above/ उपरख़क् त ऺभॎ 

64)

Question Stimulus :­

Emerson enhancement effect Proves/ इमरऺन श्॑Ƞ ঋभॊश ोऺȠ करतॊ ऻॖ­

Synergism of wavelength in enhancing photosynthesis / तरॠगधॖय१
कॎ ऺऻोॿयॊ कॎ मदद ऺॕ ঋकॊष  ॠऺष् लॕहण बुॊनॊ

Respiration/ ष् शऺन

Dark reaction/ अॠधकॊर अोभोॿयॊ

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­Synergism of wavelength in enhancing photosynthesis /
तरॠगधॖय१ कॎ ऺऻोॿयॊ कॎ मदद ऺॕ ঋकॊष  ॠऺष् लॕहण बुॊनॊ 

65)

Question Stimulus :­

According to klimov (1981), PS II contains primary electron acceptor
(which is now known as colourless chlorophyll a) & named it as/ মॊइमख़श
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(1981) कॕ अनॏऺॊर, पॎ.एठऺ .II म७ ঋॊथोमक इलॕक् ट३ ॗन ঁॊऻॎ (जख़ ोक अब, रॠगऻॎन মख़रख़ोफल a कॕ
नॊम ऺॕ जॊनॊ जॊतॊ ऻॖ) कऻलॊतॊ ऻॖ­

Pheophytin/ ोफयख़फॊइोटन

Plastocyanin/ प् लॊऺ् टख़ऺॊइोनन

Quinonlus/ क् शॎ ॠनख़लऺ

Cytochrome/ऺॊइटख़ॿख़म

Correct Answer :­Pheophytin/ ोफयख़फॊइोटन 

66)

Question Stimulus :­

Plastoquinones carry___________and___________from PS­II to PS­I. /
प् लॊऺ् टख़क् शॎोनन ___________और ___________कख़  PS­II ऺॕ PS­I लॕ जॊतॊ ऻॖ।

1e­ and 1 H+/1e­ और 1H+

1e and 2H+/1e और 2H+

2e and 2H+ /2e और 2H+

4e and 4H+/4e और 4H+

Correct Answer :­2e and 2H+ /2e और 2H+ 

67)

Question Stimulus :­

Transfer of electron from Fe­S proteins of PS­I to NADP+ is performed by
/ ोनम् न म७ ऺॕ ोकऺकॎ मदद ऺॕ PS­I ऺॕ Fe­S  ঋख़टॎन ऺॕ NADP+ तक इलॕक् ट३ ॊन ट३ ॊॠऺफर ऻख़तॊ ऻॖ?

Cytochrome­f/ ऺॊइटख़ॿख़म­एफ

Cytochrome­b3/ ऺॊइटख़ॿख़म­b3

Ferredoxin/ फॕरॊडॗ्সन
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Cytochrome­b6/ ऺॊइटख़ॿख़म­b6

Correct Answer :­Ferredoxin/ फॕरॊडॗ्সन 

68)

Question Stimulus :­

Most uncouplers of photophosphorylation move between stroma and
thylakoid, and acts as/ঋकॊषॎय फॊऺ् फख़रॎकरण कॕ अयॏग् मक जख़ ऺ् ट३ ख़मॊ एशॠ थॊइलॕकॗइड कॕ
मȯ ोशचरण करतॕ ऻ॰ एशॠ इनकॊ कॊय१ ऻॖ­

Ferryboats/ फॕरॎबख़ट्ऺ

Proton caries/ ঋख़टॊन शॊऻक

Both the above/उपरख़ঢ दख़नख़ ॠ

None of these /इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/उपरख़ঢ दख़नख़ ॠ 

69)

Question Stimulus :­

In cycle electron transport, the electron cycles from_____. / चॿॎय इलॕक् ट३ ॊन
ऺ् थॊनॠतरण म७, इलॕक् ट३ ॊन चॿण करतॊ ऻॖ_______।

P680 to P680/ P680 ऺॕ P680

P700 to P700/ P700 ऺॕ P700

P680 to P700/ P680 ऺॕ P700

None of these /इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­P700 to P700/ P700 ऺॕ P700 

70)

Question Stimulus :­

The O2 evolved during photosynthesis was discovered by / ঋकॊष ॠऺष् लॕहण कॕ
दग़रॊन O2 उत् पन् न ऻख़तॎ ऻॖ, इऺकॎ खख़ज ोकऺनॕ कॎ?

Arnon/ आन१न
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Arnon/ आन१न

Clvin/ कॕ्ʢन

Rubin & Karmin/ॺोबन एशॠ कॊोम१न

Hill/ ोऻल

Correct Answer :­Rubin & Karmin/ॺोबन एशॠ कॊोम१न 

71)

Question Stimulus :­

In the cell cycle DNA replication takes place in/ कख़ोषकॊ चॿ म७, डॎएनए ोȪगॏणन
कऻॊॠ ऻख़तॊ ऻॖ?

G1 Stage/ G1 अशऺ् थॊ

S Stage/ S अशऺ् थॊ

G2 Stage/ G2 अशऺ् थॊ

G0 Stage/ G0 अशऺ् थॊ

Correct Answer :­S Stage/ S अशऺ् थॊ 

72)

Question Stimulus :­

Growth curves of peach, apricot & plum etc/ आीॐ , एঋॎकख़ट एशॠ बॕर कॊ श्॑Ƞ शॿ
ऻख़तॊ ऻॖ?

Double Sigmoid/डबल ोऺग् मॊइड

Single Sigmoid/ ो ॠऺगल ोऺग् मॊइड

Hyperbolic / ऻॊइपरबख़ोलक

Parabolic/ पॕरॊबख़ोलक

Correct Answer :­Double Sigmoid/डबल ोऺग् मॊइड 
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73)

Question Stimulus :­

The root cap secrete a polysaccharide rich slime to lubricate newly
penetrating roots and the substance is known as / नई, म॑दॊ म७ ঋशॕष करनॕ शॊलॎ
जीख़ कख़ ल् यॐ঍्ॎकॕट करनॕ ऻॕतॏ जख़ पॊलॎऺॕकरॊइड ऺ् আॊोशत ऻख़तॊ ऻॖ _______  कॕ नॊम ऺॕ जॊनॊ जॊतॊ
ऻॖ।

Chitin/ कॊयोटन

Mucigel/म् यॐऺॎजॕल

Mucin/म् यॐोऺन

Phellogen/फॕलख़जॕन

Correct Answer :­Mucigel/म् यॐऺॎजॕल 

74)

Question Stimulus :­

A Small zone proximal to root cap where cell division hardly occurs is
known as / मॐल टख़पॎ ঋदॕष कॕ पऻलॕ एक छख़टॊ ऺॊ ঴ॕআ जऻॊॠ कख़ोषकॊ ोशभॊजन कम ऻॎ ऻख़तॊ
ऻॖ,____ कऻलॊतॊ ऻॖ?

Quiescent centre/षॊॠत ঴ॕআ

Phloem/ ɢख़एम

Root hair zone/ मॐल रख़म ঋदॕष

None of the above/उपरख़क् त म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Quiescent centre/षॊॠत ঴ॕআ 

75)

Question Stimulus :­

The reproductive structure of conifers develop in unisexual part known as
/कख़नॎफ १ऺ कॎ जनन  ॠऺरचनॊय७ एकोलॠगॎय भॊग कॕ ॺप म७ ोशकोऺत ऻख़तॎ ऻॖ,उɎ७ कऻॊ जॊतॊ ऻॖ­

Cones/ कख़न

Strobili/ ऺ् ट३ ख़ोबलॊई
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Strobili/ ऺ् ट३ ख़ोबलॊई

Both the above/उपरख़ঢ दख़नख़ ॠ

None of these /इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/उपरख़ঢ दख़नख़ ॠ 

76)

Question Stimulus :­

Which of the following supports possible mechanism of Auxin Action?/ोनम् न
म७ ऺॕ कग़न­ऺॎ ोॿयॊ अ्সन ঋभॊश बतॊतॎ ऻॖ?

Induced fit Hypothesis/ ঋॕौरत ोफट पौरकल् पनॊ

Chemiosmotic theory/ कॎमख़आऺ् मख़ोटक पौरकल् पनॊ

Acid­Growth Hypothesis/ अम् ल­श्॑Ƞ पौरकल् पनॊ

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Acid­Growth Hypothesis/ अम् ल­श्॑Ƞ पौरकल् पनॊ 

77)

Question Stimulus :­

In tissue culture, adding high cytokinin auxin ratio in callus, can lead to/
ऊतक  ॠऺशध१न म७, योद कॖलऺ म७ उच् च ऺॊइटख़कॊयोनन आ्সन अनॏपॊत ोमलॊय७ तख़ क् यॊ बुॕगॊ?

Shoot System to first develop/तनॊ तॠআ पऻलॕ श्॑Ƞ करॕगॊ

Root system first develop/मॐल तॠআ पऻलॕ श्॑Ƞ करॕगॊ

Callus do not develop/कॖलऺ नऻॎ ॠ ऻख़गॊ

None of the above/ उपरख़क् त म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Shoot System to first develop/तनॊ तॠআ पऻलॕ श्॑Ƞ करॕगॊ 

78)

Question Stimulus :­

Which of the following can increase ethylene production?/ ोनम् न म७ ऺॕ कग़न
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Which of the following can increase ethylene production?/ ोनम् न म७ ऺॕ कग़न
इथॊइलॎन उत् पॊद बुतॊ ऻॖ?

Water logging/जल भरॊश

drought/ ॐऺखॊ

Pathogens/रख़गॊणॏ

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

79)

Question Stimulus :­

Ethylene is derived from Carbone 3 & 4 of / इथॊइलॎन 3 यॊ 4 कॊब१न पदॊथ्१  ऺॕ बनतॊ
ऻॖ­

Tryptophan/ोट३ प् टख़फॕन

Methionine/ोमोथओोनन

Phenylalanine/ोफनॊइलएलॕोनन

Proline/ ঋख़ोलन

Correct Answer :­Methionine/ोमोथओोनन 

80)

Question Stimulus :­

Which of the following is a competitive inhibitor of ethylene action in
plants?/ पग़धख़ ॠ म७, इथॊइलॎन ঋभॊश कॕ ोलयॕ ोनम् न म७ ऺॕ कग़न ঋोतऺ् पधॎ ोशरख़धॎ ऻॖ?

CO2

Acetic Acid/ एऺॎोटक अम् ल

Ethanol/ इथॕनॊल

Pyruvic Acid/पॊयॺोशक अम् ल
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Correct Answer :­CO2 

81)

Question Stimulus :­

ABA have major effects on plants which include­/पग़धख़ ॠ म७, ए बॎ ए कॊ बीॊ ঋभॊश
ऻख़तॊ ऻॖ इऺकॕ अॠत१गत आतॊ ऻॖ­

Inhibition of transcription/ ट३ ॊॠऺोॿपषन अशरख़ध

Inhibition of translation/ट३ ॊॠऺलॕषन अशरख़ध

Effects plasma membrane of roots/ जीख़ ॠ कॎ प् लॊज् मॊ ोझल् लॎ पर ঋभॊश

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

82)

Question Stimulus :­

The Property of producing morphologically and physiologically different
seeds from same plants is known as / शऻ गॏण ोजऺऺॕ एक ऻॎ पग़धॕ ऺॕ आकॊरकॎय एशॠ
कॊय१कॎय ॺप ऺॕ अलग­अलग बॎजख़ ॠ कॊ उत् पॊदन ोकयॊ जॊतॊ ऻॖ, कऻलॊतॊ ऻॖ­

Heteroblasty/ऻॎटरख़प् लॊऺ् टॎ

Symplast/ ोऺमप् लॊऺ् ट

Apoplast/ एपख़ɘॊऺ् ट

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Heteroblasty/ऻॎटरख़प् लॊऺ् टॎ 

83)

Question Stimulus :­

The activities of which enzymes increases during drought?/ ॐऺखॕ कॎ अशऺ् थॊ म७
कग़न­ऺॊ एॠ जॊइम ऺोॿय ऻख़ जॊतॊ ऻॖ?

  ­ amylase/  ­एमॊइलॕज
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Ribonuclease/ रॊइबख़Ɋॏ्মएि

Both the above/ उपरख़ঢ दख़नख़ ॠ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/ उपरख़ঢ दख़नख़ ॠ 

84)

Question Stimulus :­

Plants usually recover if watered when stresses are /ोनम् न म७ ोकऺ तनॊश ऺ् तर म७
पग़धॕ जल ऺॎ ॠचनॕ कॕ बॊद तनॊश ऺॕ बॊऻर आ जॊतॕ ऻॖ?

­5.0 MPa

­1.0 to 2.0 MPa

­10 MPa

0.001 MPa

Correct Answer :­­1.0 to 2.0 MPa 

85)

Question Stimulus :­

Halophytes in which the salt concentration within the plants does not
increase during growing season are known as /ऐॠऺ ॕ लशणख़̊ोभद, ोजनम७ लशण ऺॊॠঈतॊ
बुनॕ कॎ ऋतॏ म७ नऻॎ ॠ बुतॎ ऻॖ, कऻलॊतॕ ऻ॰­

Salt accumulators/लशण  ॠऺचॊयक

Salt regulators/लशण ोनयॠআक

 Both the above/ उपरख़ঢ दख़नख़ ॠ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Salt regulators/लशण ोनयॠআक 

86)

Question Stimulus :­
Which of the following is long night plants?/ ोनम् न म७ ऺॕ कग़न­ऺॊ लॠबॎ रॊोআ कॊ पग़धॊ
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Which of the following is long night plants?/ ोनम् न म७ ऺॕ कग़न­ऺॊ लॠबॎ रॊोআ कॊ पग़धॊ
ऻॖ?

Spinach/ पॊलक

Tobacco/ तॠबॊकॐ

Oat/ ৹ॊर

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Tobacco/ तॠबॊकॐ  

87)

Question Stimulus :­

Ovary culture technique was developed by/ अॠडॊषय कल् चर तकनॎक ोकऺनॕ ऺ् थॊोपत
कॎ?

Hoagland/ ऻख़गल७ड

Nitsch / ोनषच

Robbins/ रॊोबन् ऺ

Haberlandit / ऻॕबरल७ोडट

Correct Answer :­Nitsch / ोनषच 

88)

Question Stimulus :­

For plant cell culture, nutrient medium is autoclaved at/पॊदप कख़ोषकॊ कल् चर म७
पख़हक मॊध् यम कख़ आटख़क् लॕश करतॕ ऻ॰­

121 oC, 30 PSi & 30 minute

121 oC, 15 PSi, 15 minute

100oC, 15 PSi, 15 minute

1000C, 121 Psi, 15 minute
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Correct Answer :­121 oC, 15 PSi, 15 minute 

89)

Question Stimulus :­

A rhizogenes causes which disease in plants?/ एঁख़बॖक् टॎौरयम रॊइजख़ोजनऺ कॕ
कॊरण पग़धख़ ॠ म७ कग़न­ऺॎ बॎमॊर ऻख़तॎ ऻॖ?

Crown gall disease/ॿॊउन गॊल ोडऺॎज

Hairy root disease/ऻॕयरॎ ॺट ोडऺॎज

Tumour in roots/ जीख़ ॠ म७ ਅॐमर

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Hairy root disease/ऻॕयरॎ ॺट ोडऺॎज 

90)

Question Stimulus :­

Agrobacterium species contains/ एঁख़बॖक् टॎौरयम ऺ् पॎऺॎज म७ ऻख़तॊ ऻॖ?

Ti plasmid/Ti प् लॊजोमड

Ri plasmid/ Ri प् लॊजोमड

T­DNA

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

91)

Question Stimulus :­

Which of the following compound is released by wounded plants cells that
induce vir genes?/घॊयल पॊदप कख़ोषकॊ ऺॕ कग़न­ऺॊ पदॊथ१ ोनकलतॊ ऻॖ जख़ vir जॎन् ऺ  कख़ ঋौरत
करतॕ ऻॖ?

Octopine/ ऑक् टख़पॊईन
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Acetosyringone/ एोऺटख़ोऺौरन् जख़न

Acetyl CoA/ एोऺटॊईल CoA

Nopaline/नख़पॕोलन

Correct Answer :­Acetosyringone/ एोऺटख़ोऺौरन् जख़न 

92)

Question Stimulus :­

Genes in vir region of octopine Ti plasmid are present in/ ऑक् टख़पॊईन Ti
प् लॊ्৷ड म७ उप्̾थत vir ঴ॕআ म७ जॎन् ऺ  फॖलॕ रऻतॕ ऻ॰­

8 operones/ 8 ओपॕरख़न् ऺ  म७

16 operones/ 16 ओपॕरख़न् ऺ  म७

20 operones/20 ओपॕरख़न् ऺ  म७

24 operones/24 ओपॕरख़न् ऺ  म७

Correct Answer :­8 operones/ 8 ओपॕरख़न् ऺ  म७ 

93)

Question Stimulus :­

Delivery of virus sequence to plants genome using Agrobacterium is
known as /एঁख़बॕक् टॕौरयम कॕ मॊध् यम ऺॕ ोकऺॎ ोशहॊणॏ कॕ ॿम कख़ पग़धख़ कॕ जॎनख़म म७ पॽॠचॊनॕ कख़
कऻतॕ ऻ॰­

Agroinfection/ एঁख़ ॠऺॿमण

Agroinoculation/ एঁख़ ॠऺचॊरण

Both the above/ उपरख़ঢ दख़नख़ ॠ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/ उपरख़ঢ दख़नख़ ॠ 

94)
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Question Stimulus :­

Which of the following is not a Ti plasmid?/ ोनम् न म७ ऺॕ कग़न Ti प् लॊ्৷ड नऻॎ ऻॖ?

 pAL4404

pTiAch5

pTiC58

pUC8

Correct Answer :­pUC8 

95)

Question Stimulus :­

Fusogen helps isolated protoplast to fuse together by / ɡॏऺख़जन, ঋथक जॎशঈश् य
कख़  ॠऺयॏजन म७ मदद करतॕ ऻ॰­

Reducing the electronegativity of isolated protoplast/ उऺकॎ
ोशद्यॏ त ऋणत् मकतॊ कम करकॕ

 Increasing electronegativity of isolated protoplast /उऺकॎ
ोशद्यॏ त ऋणत् मकतॊ बुॊ करकॕ

Dissolved cell wall/ कख़ोषकॊ ोभोȅ कख़ घख़ल दॕतॕ ऻ॰

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Reducing the electronegativity of isolated protoplast/
उऺकॎ ोशद्यॏ त ऋणत् मकतॊ कम करकॕ 

96)

Question Stimulus :­

A Lethal gene codes for/ लॎथल जॎन कख़ड करतॊ ऻॖ­

Ribosome inhibiting protein (RIP)/ रॊईशख़ऺख़म अशरख़धॎ ঋख़टॎन कॕ ोलए

Octopine/ ऑक् टख़पॊइन कॕ ोलए

Nopaline/नख़पॕोलन कॕ ोलए
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All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Ribosome inhibiting protein (RIP)/ रॊईशख़ऺख़म अशरख़धॎ ঋख़टॎन कॕ
ोलए 

97)

Question Stimulus :­

Example of Somatic hybridization is/कॊयकॎय  ॠऺकरण कॊ उदॊऻरण ऻॖ­

Pomato /पख़मॕटख़

Bt cotton/ Bt कपॊऺ

Tomato/ टमॊटर

All of above/उपरख़क् त ऺभॎ

Correct Answer :­Pomato /पख़मॕटख़ 

98)

Question Stimulus :­

Hannig (1904) 1st Attempted/ ऻॕोɄग (1904) Ȫॊरॊ ঋथम बॊर ঋयॊऺ ोकयॊ गयॊ­

Embryo culture/ ঎ॐण  ॠऺशध१न कॊ

Protoplast fusion/ जॎशঈश् यख़ ॠ कॊ  ॠऺयॏजन कॊ

Totipotency/ टख़टॎपख़टॕन् ऺ ॎ कॊ

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Embryo culture/ ঎ॐण  ॠऺशध१न कॊ 

99)

Question Stimulus :­

Which of the following cultural media is not used in plant tissue culture?/
ोनम् न म७ ऺॕ कग़न ऺॊ  ॠऺबध१न मॊध् यम पॊदक उत् तक  ॠऺबध१न म७ ঋयख़ग नऻॎ ॠ ऻख़तॊ ऻॖ?

MS media/ एम एऺ मॊध् यम
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B5 Media/ B5 मॊध् य 

White’s medium/ श् ऻॊईट कॊ मॊध् यम

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ 

100)

Question Stimulus :­

Products of RuBisCO action on ribulose bisphosphate and O2 are /रॊइबलख़ऺ
ोबऺफॊऺ् फॕट और O2 पर ॹोबऺ् कख़ कॕ ঋभॊश ऺॕ उत् पन् न उत् पॊद ऻॖ­

3­PGA

Phosphoglycolic/ फॊऺ् फख़ग् लॊइकख़ोलक अम् ल

Both the above/ उपरख़ঢ दख़नख़ ॠ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ 
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